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UGC NET PAPER 2 NOVEMBER 22, 2021 SHIFT 2 WOMEN STUDIES QUESTION PAPER

1)

Topic:- 74WS_A

Identify the post-modern French Feminist

(1)
@
(3
@

Alexandra Kollontai
Julia Kristeva
Angela Davis
Judith Butler
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[Question ID = 4482][Question Description = Q01_WS_SHAAN_NOV21]
1 [Option ID = 17391]
2 [Option ID = 17392]
3 [Option ID = 17393]
4 [Option ID = 17394]
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2)

(1)
(2)
(3)
(4)

Beti Bachao Beti Padhao scheme aims at :

Encouraging gender based sex selective discrimination
Ensuring survival and protection of the girl child
Denying the education and participation of the girl child

Encourging the dropout of girl child after puberty
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[Question ID = 4483][Question Description = Q02_WS_SHAAN_NOV21]
1. 1 [Option ID = 17395]
2. 2 [Option ID = 17396]
3, 3 [Option ID = 17397]
4, 4 [Option ID = 17398]

3)

Which of the following i1s applicable to women in Jammu and Kashmir. Post repealing of

Article 3707

@
@

Women marryving men out side Jammu and Kashimir Lose property rights

Jammu and Kashmir women marrying non-natives lose Residency rights
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(3) Jammu and Kashmir women cannot inherit property rights but enjoy permancy of
Residency rights

(4) Jammu and Kashmir women marrying non-natives do not lose permancy of residency

rights as per article 35 A of Indian Constitution
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[Question ID = 4484][Question Description = Q03_WS_SHAAN_NOV21]

P

4)

. 1 [Option ID = 17399]
2 [Option ID = 17400]
3 [Option ID = 17401]
. 4 [Option ID = 17402]

Under which Government of India scheme, women and girls are provided access to low-cost

sanitary pads?
(1) Asmita Yojana (2) Menstrual Hygiene scheme
(3) National Health Mission (4) TUjwala Sanitary Napkin
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[Question ID = 4485][Question Description = Q04_WS_SHAAN_NOV21]

B R L

. 1 [Option ID = 17403]
2 [Option ID = 17404]
3 [Option ID = 17405]
4 [Option ID = 17406]

3) ATLAS t1, N vivo, R package are example of

(1) Computer assissted qualitative data analysis software
(2) Quantitative software

3 Statistical method

(1) Research design
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[Question ID = 4486][Question Description = Q05_WS_SHAAN_NOV21]
| 1. 1 [Option ID = 17407]
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| 2. 2 [Option ID = 17408]
3. 3 [Option ID = 17409]
4. 4 [Option ID = 17410]

%) Which of the following is a caste and religion driven crime against women?

(1) Chald sexual abuse (2) Honor killing
(3) Kidnapping (4) Female Foeticide

afEeaTet  feg 21 ara Fefatas daget § § Fi9 o1 A9e s o0t g1 o =t 27
1) @ 99 gedarR (2) ufcE % fow #) 7 gen (sn fefem)

3 e (4) == YO TN

[Question ID = 4487][Question Description = Q06_WS_SHAAN_NOV21]
1. 1 [Option ID = 17411]
2. 2 [Option ID = 17412]
3. 3 [Option ID = 17413]
4. 4 [Option ID = 17414]

7)) Which of the following scheme exclusively deals with dropped out and never enrolled girls?

(1) Out of school programme

(2) National programme for Education of girls at elementary level
(3) Kasturba Gandhi Balika Vidyalavas

4 Early Girl Child Education

frefefiga & 9 o @ whm 37 w7 9 o5 siet aelt R Foft wpe T 90 aref arfawet @ gettn 27
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[Question ID = 4488][Question Description = Q07_WS_SHAAN_NOV21]
1. 1 [Optien ID = 17415]
2. 2 [Optien ID = 17416]
3. 3 [Optien ID = 17417]
4. 4 [Option ID = 17418]

8)  Which of the following is true with regard to Feminism?
(1) approves gender discrimination in certain areas
(2) has transformed women from an object of knowledge into subjects capable of
appropriating knowledge
(3) disregards the notion of “Agency”
(4) promote mited autonomy for women
i F ey § fefafaa 8 9 70 8 27
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[Question ID = 4489][Question Description = Q08_WS_SHAAN_NOV21]
1. 1 [Optien ID = 17419]
2. 2 [Optien ID = 17420]
3. 3 [Optien ID = 17421]
4. 4 [Option ID = 17422]

9)

Which group of feminist view that “Oppression of women 1s the most fundamental form of
oppression. one that cuts across boundaries of race, culture and economic class™?
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(1) Liberals (2) Radicals
(3) Socialist (4) Marxist

Al = B W GgE T8 AFar B B afesist @ Sscfied wh Um weiiies suneE el 1 @ 3 =
T, Tt 3 i A A deh & R 37

(1)  IeraE 2) SFEE
(8) THEEl (@) AFEE

[Question ID = 4490][Question Description = Q09_WS_SHAAN_NOV21]
1. 1 [Option ID = 17423]
2. 2 [Option ID = 17424
3. 3 [Option ID = 17425]
4. 4 [Option ID = 17426]

10)  Which of the non-probability samphng technique is used 1n qualitative research?

(1) Simple Random Sampling (2) Stratified Random Sampling
(3) Purposive Sampling (4) Cluster Sampling

ToTeRs g J feiatEa 8§ 8 w5 @ -mies st gfata o e 27
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[Question ID = 4491][Question Description = Q10_WS_SHAAN_NOV21]
1. 1 [Option ID = 17427]
2. 2 [Option ID = 17428]
3. 3 [Option ID = 17429
4. 4 [Option ID = 17430]

11) In Global gender gap-Index 2020, India ranked

(1) 110%® 2y 112

) 114 (4) 115%

TS SIS 19 gerRih-2020 § WA B F4:

(1) 110 (2 iz

3) 114 =0 (4) 1153

[Question ID = 4492][Question Description = Q11_WS_SHAAN_NOV21]
1 [Option ID = 17431]
2 [Option ID = 17432]
3 [Option ID = 17433]
4 [Option ID = 17434]

bl D

12) National Education Policy 2020 for the first time envisages the introduction of compulsory

(1) Technical Education (2) Early Childhood Education

(3) Technical Education for girls (4) Inclusion of person with disabilities
Tl fovear Hifa 2020 9 Frafafias 4 @ fra A stfEma sme 79 gavad em fom T gt
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[Question ID = 4493][Question Description = Q12_WS_SHAAN_NOV21]
1. 1 [Option ID = 17435]
2. 2 [Option ID = 17436]
3. 3 [Option ID = 17437]
4, 4 [Option ID = 17438]

13} Which of the following feminist theory will be more appropriate to study black feminism?
(1 Liberal feminist theory (2) Conflict theory
(3) Socialist feminism (4) Intersectional feminism

s ATt % 1o F for Rt 4 & Se-ar e figia s 3w 2
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[Question ID = 4494][Question Description = Q13_WS_SHAAN_NOV21]
1. 1 [Option ID = 17439]
2. 2 [Option ID = 17440
3. 3 [Option ID = 17441]
4. 4 [Option ID = 17442]

14)
Who 18 the author of the Book titled “Why I am not a Hindu Woman™?

(1) Kancha Illaiah (2) Wandana Sonalkar
(3 Flavia Agnes {(4) Taslima Nasrin

"=gs 9T un e U fig i il geew e Rt 27

(1) == s (2) TN GHAEER
(3) it ofim (4) aEeE TEH

[Question ID = 4495][Question Description = Q14_WS_SHAAN_NOV21]
1. 1 [Option ID = 17443]
2. 2 [Option ID = 17444)]
3. 3 [Option ID = 17445]
4. 4 [Option ID = 17446]

13) WED approach talks for

(1) Women — Empowerment — Development
(2) Women — Economy — Development
(3 Women — Environment — Development

(4) Women — Entrepreneurship — Development

‘TY TS MM A Fega T H FRr A TS 27
(1)  wfzer — gufrso- Sy (2) TiEeT - SFd=gaen - FGwm
(3)  =feen - wrEw - fEw (4) wfEen - semshiear - e
[Question ID = 4496][Question Description = Q15_WS_SHAAN_NOV21]
1. 1 [Option ID = 17447
2. 2 [Option ID = 17448

]
3. 3 [Option ID = 17449]
4. 4 [Option ID = 17450]

1 : s
2 Who first mentioned the term “Shadow Pandemic™?
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(1) Anionio Guterres (2) Phumzile Mlambo Ngecuka

(3) Soumya Swaminathan (4) Zilla Eisenstein

fro gy ‘vite! ugihe wee w1 3gw TR 27

(1) uhifE TRe (2) FHfae Tl TR
(3)  Erem wHETEE (4) g1 st

[Question ID = 4497][Question Description = Q16_WS_SHAAN_NOV21]
1. 1 [Option ID = 17451]
2. 2 [Option ID = 17452]
3. 3 [Option ID = 17453]
4. 4 [Option ID = 17454]

17)

(1) Criminalization of sex work
(2) Decriminalization of sex work
(3) Legalization of sex work

(4) Legalization for empowerment of sex worker

T wiFr = faftes srfteert & wewr ¥ 3= sl fafy 6 oftfa o amet =@ Fasdt surm 9 St 5
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[Question ID = 4498][Question Description = Q17_WS_SHAAN_NOV21]
1. 1 [Optien ID = 17455]
2. 2 [Optien ID = 17456]
3. 3 [Option ID = 17457]
4. 4 [Option ID = 17458]

18) Action research refers to :

(1) A longitudinal research
(2) Top-down research
(3) A research 1nitiated to solve an immediate problem

(4) A research which is theoretical

w1 Y (T ) oo 3

(1) e o
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[Question ID = 4499][Question Description = Q18_WS_SHAAN_NOV21]

Removal of sex-work from the scope of criminal law while protecting the legal mghts of the sex
worker. This approach holds state responsible for safer working conditions, minimum
remuneration and civil liberties of sex worker. Identify the most suitable approach
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1 [Option ID = 17459]
2 [Option ID = 17460]
3 [Option ID = 17461]
4 [Option ID = 17462]

oW

19) Which Article in CEDAW explicitly enshrines the right to equality in Education?

(1)  Article 10 (2) Article 17
(3)  Article 15 (4) Article 16

W 2 3 v zoeg & Fhu argeae o fren o Twar o 1R Bt vaE w9 ¥ i e 27

(1)  ¥19=8% 10 (2) =7 17
(3 =3 L5 (4 =T 16

[Question ID = 4500][Question Description = Q19_WS_SHAAN_NOV21]
1. 1 [Optien ID = 17463]
2. 2 [Optien ID = 17464]
3. 3 [Optien ID = 17465]
4. 4 [Option ID = 17466]

20) In the demographic cycle India 1s 1n the

(1) High stationary stage (2) Early expanding stage
(3) Late expanding stage (4) Low stationary stage

SRR o5 B 9T 59 s/aedT H 27

(1) 3= O e (2) TR TEreaTer ST
(3) e ferearn tereT @) = R sEen

[Question ID = 4501][Question Description = Q20_WS_SHAAN_NOV21]
1. 1 [Optien ID = 17467]
2. 2 [Optien ID = 17468]
3. 3 [Option ID = 17469]
4. 4 [Option ID = 17470]

21)  Name the First Indian state to establish the prevention of Witch (Daain)practices Act, 1999

(1) Bihar (2) Maharastra
(3) Kerala {4) Uttar Pradesh

A 9T e SfaREm, 1999 W TF B G T W E T99 T T SaiR;

(1) TEr (2) wEIE
B (4) TR T

[Question ID = 4502][Question Description = Q21_WS_SHAAN_NOV21]
1. 1 [Option ID = 17471]
2. 2 [Option ID = 17472]
3. 3 [Option ID = 17473]
4. 4 [Option ID = 17474]

22
) Which type of Research Design was popularized by Nobel lauriate Abhijit Banerjee, Esther
Duflo and Michael Kremer?
(1) Diagnostic Research Design (2) Exploratory Research Design
(3) Descriptive Research Design (4) Randomized Control Design

st Tastar sifiag s, v %l 3t A St g oy Y Tesiea =1 w=rfaa foear = ?

(1) seEmies fa= feas Q) wwEmER fed fswEe
@ feferfea e o (0) eAmss FoE TeeT
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[Question ID = 4503][Question Description = Q22_WS_SHAAN_NOV21]
1. 1 [Option ID = 17475]
2. 2 [Optien ID = 17476]
3. 3 [Optien ID = 17477]
4. 4 [Option ID = 17478]

23)

Whach of the following international convention known as the international Bill of Rights for
Women, recognises the reproductive rights of women?

()
@
3
@

UNDHR — Universal Declaration of Human Rights

CEDAW — Convention on Elimination of All Forms of Discrimination Against Women
CRC - Child Rights Convention

CCPR — Convention on Civil and Pohtical Rights

freafeafign 4 @ frg s=ode geiem 1 ufenstt = st 1 s g & w9 4 e o & S
afgeTaTt @ U o 3TEERR < ATEET daT & ¢
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[Question ID = 4504][Question Description = Q23_WS_SHAAN_NOV21]
1. 1 [Option ID = 17479]
2. 2 [Option ID = 17480]
3. 3 [Option ID = 17481]
4. 4 [Option ID = 17482)

24)

As per global gender gap report World Economic Forum 2019 it wall take 257 years to ensure
gender equality in

(1) political participation of women

(2) economic participation of women

(3) education

(4) health and survival

TeiiEe Set i O aes TR B 2019 % 1 Bhe &3 4 Set auedl gifveg we 5 o 257 a4

i ?

(1)  afgeret $i usHifas vriied
(2)  Tfzemen #i snfdw urie
(3)  fwam

(4) =Yg &R SaTEtiemT

[Question ID = 4505][Question Description = Q24_WS_SHAAN_NOV21]
1. 1 [Option ID = 17483]
2. 2 [Option ID = 17484]
3. 3 [Option ID = 17485]
4, 4 [Option ID = 17486)

25)

Which one of the following 1s not the target of ‘WASH' related to SDG on water and Hygiene
needs?

@

N

Achieve universal and equitable access to safe and affordable drinking water for all

Arhisve arracs tn adeomate and eannitahle ganitatinm and hvoiens far all
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(3) End open defecation, paying special attention to the needs of women and girls and
those in vulnerable situations
(40  Eliminate all forms of violence against women
frafaiad § O 51 91 99 IR @R AEvIRaiel * Oad [§m w5 (SDG) ¥ geiia dm (WASH)
T A5 T 2 7
Q) @t = fe giEa o s e <Y arsitfies o g oge W A
(2 @t F e i 3R T s AU TR I TET W we
3 @A e B g wen, ARl aRml e sl kel & @ ol B i Ry s
&
(4  afzenert & wf 2 el = wwR H B ® aum e

[Question ID = 4506][Question Description = Q25_WS_SHAAN_NOV21]
1. 1 [Option ID = 17487
2. 2 [Option ID = 17488]
3. 3 [Optien ID = 17489]
4. 4 [Option ID = 17490]

26)

Under which of the following conditions, the Hindu women are given the right to Divorce?

@
@)
(3
4

Inter-faith
Impotence of the Husband. desertion and cruelty
Age difference of more than 20 vears between husband and wife

Husband without employment

Frafafge o ¥ fra foaft § fog vfea =t aoms =1 iR fan = 27

(1
@
3
@

ST -1

ufa 1 TgHHd TRcTFAT SR F
it = =9 20 a9 ¥ 7w A I

[Question ID = 4507][Question Description = Q26_WS_SHAAN_NOV21]
1. 1 [Option ID = 17491]
2. 2 [Option ID = 17492]
3. 3 [Option ID = 17493]
4. 4 [Option ID = 17494]

27) Which of the following government organizations plaved a critical role in shaping the

POSHAN Abhivan’
(1) Social welfare board (2) NIPCCD
(3) NITI Aayog (4 NCW (National Commission for Women)

OISR W SR o R SRt T ¥ weeaqul it over =i 27

ey
3

TS eI S (2) v o W, i ol S
Hifer 2 (4) uiEm ufger M

[Question ID = 4508][Question Description = Q27_WS_SHAAN_NOV21]
1. 1 [Option ID = 17495]
2. 2 [Option ID = 17496]
3. 3 [Option ID = 174%7]
4, 4 [Option ID = 17498]

28) Which of the following United Nation organizations is dedicated to “Gender Equality and
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(1) UNICEF (2) UNDP
(3) TN Women (4) TUNIFEM

T TP I i §T AT AAlieh AUFET 31T AfEareT = aewheson # fo ufdeg 27
(1) =HE® (UNICEF) (2) 7. =. €. 4. (UNDP)
3 7. W. Fi99 (UN Women) (@ =i (UNIFEM)

[Question ID = 4509][Question Description = Q28_WS_SHAAN_NOV21]

1. 1 [Option ID = 17499]

2. 2 [Option ID = 17500]

3. 3 [Option ID = 17501]
4. 4 [Option ID = 17502]

23 According to the Medical Termination of Pregnancy (Amendment) Bill 2020 — What 1s the

requirement for terminating pregnancy between 12 to 20 weeks

(1) Adwvice of two doctors (2) Advice of medical board
(3)  Adwvice of one doctor (4) Advice of three doctors

nfgeket 2fim 3iTe TEE (Feies) foe 2020 % 3EEE 12 € 20 2961+ THUK % fAT e 2

(1) < S+ W (2) HAfETa S = Ed
(3) U SRt T G (4) = Swredt = s

[Question ID = 4510][Question Description = Q29_WS_SHAAN_NOV21]
1. 1 [Option ID = 17503]
2. 2 [Option ID = 17504]
3. 3 [Option ID = 17505]
4. 4 [Option ID = 17506]

30 Which of the following International Conference introduced the term “Reproductive Health”
for the first time?

(1) International Conference on Health and Well being
(Z) International Conference on Population and Development

(3) Beljing Conference on Women

(4) International Conference on Environment

feateias § @ fpE SRIYE F9em 9 T=eil s e = (Reproductive Health) wme & aftm
ek
(1) TR T Fodm FaH SR e
(2) TG 3k e gedl s aeen
(3  wfeenen @ Tad difsm e
(4) R gEd SOgE gee
[Question ID = 4511][Question Description = Q30_WS_SHAAN_NOV21]
1. 1 [Option ID = 17507]
2. 2 [Option ID = 17508

]
3. 3 [Option ID = 17509]
4. 4 [Option ID = 17510]

) Which of the following 1s the Bilingual online Marketing Platform for Women

Entreprencurs/Self help groups and NGO's :

(1) Mabhila Portal (?) Nari Shakti
3 Mahila E Haat (4) Dagital India
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(1)  Afeen aRa ) - af®
(3) HfFen g Ee (4) Tefmes st

[Question ID = 4512][Question Description = Q31_WS_SHAAN_NOV21]
1. 1 [Option ID = 17511]
2. 2 [Option ID = 17512]
3. 3 [Option ID = 17513]
4, 4 [Option ID = 17514]

32)  Which of the following Central Ministry has launched “Sanitease” the women’s health and

Hygiene scheme during 2017

(1) Ministry of Women and Child Development
(2) Mimistry of Health

(3) Ministry of Human Resource Development
(4) Ministry of Youth Affairs and Sports

Tr HaT Oaed = gy 2017 % SI0H Alee @REE a9 Weaar A9 ‘Sanitease’ &1 314 B ?

(1) wfEe @ @ fom w=e (2) W o
(8)  uEa gureA o TEeE (4) I TS Ud O oA

[Question ID = 4513][Question Description = Q32_WS_SHAAN_NOV21]
1. 1 [Option ID = 17515]
2. 2 [Option ID = 17516]
3. 3 [Option ID = 17517]
4. 4 [Option ID = 17518]

33)  Who is the author of the book “A Field of One’s Own’?

(1) Arundhati Roy (2) Bina Agarwal
(3) Sharmila Rege (4) Anita Desal
“fes 3T I AF [aF O ot 27
(1) aE=Ele T4 (2) AT smE
(8  =iffen o (4) o Su

[Question ID = 4514][Question Description = Q33_WS_SHAAN_NOV21]
1. 1 [Option ID = 17519]
2. 2 [Option ID = 17520]
3. 3 [Option ID = 17521]
4. 4 [Option ID = 17522)

34 : e it : X . :
) Which of the following 1s a prescribed form of marrmage under Hinduism?
(1) Gandharva (2) Anuloma
(3) Rakshasa (4) Pratiloma

Frafafaa 4 @ wia-w1 g ot % swla frams = fafka w7 27

1) W @ wFam
(8) THw (4) wigemm

[Question ID = 4515][Question Description = Q34_WS_SHAAN_NOV21]
1. 1 [Option ID = 17523]
| 2. 2 [Option ID = 17524]
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| 3. 3 [Option ID = 17525]
4. 4 [Option ID = 17526]

35)

Within Sustainable Development Goals (SDGs), which number of goal 1s specifically related to

gender equality?
(D Goal No. 5 (2) Goal No. 4
(3) Goal No. 3 (4) Goal No. 2

Tad_ fIFE 9129 % 3=ia (SDGs), T 9t 91eT T faum 9 § S auea O Feiad 2 7

ey
6

T AT - 5 (2) &= "EA - 4

@ g ~ 3 (4) =T - 2

[Question ID = 4516][Question Description = Q35_WS_SHAAN_NOV21]

o R

36)

1 [Option ID = 17527]
2 [Option ID = 17528]
3 [Option ID = 17529
4 [Option ID = 17530

Name the UGC scheme for the establishment of Women's Studies centres in higher
educational institutions

)
@
(3)
@

Development of Women’s studies in Indian Universities and Colleges
Developing Women's studies in Higher Education
Setting of Women Empowerment cells in Universities and Colleges

Promoting Women's Studies Researches in Universities

@
(2)
(3
(4

YA frvataener o meifeTesn § BiEen 99994 %) faam
3= freqwr o Afgen e asita $6

Toaferarert s merfererl 8 Afgen wwfEsor TSt 1 T
farrafaamemt o afgen 1o9em Wy = Fad

[Question ID = 4517][Question Description = Q36_WS_SHAAN_NOV21]
1. 1 [Optien ID = 17531]
2. 2 [Optien ID = 17532]
3. 3 [Option ID = 17533]
4. 4 [Option ID = 17534]

37)

Which out of the following was not covered under the Millennium Development Goals
(MDGs)?

4
@
(3
@

Improving Maternal Health

Promoting gender equality and empower women
Initiating Gender Budgeting

Combating HIV/AIDs, Malaria and Other diseases

Tetes foerm @59 (T8 i <fY) % oIovia Frertotiad 3 § A S e wn?

(1)
)
3
G

AT T H U
AT T 1 & FE
U 1S o /Ugy, Ty 3 3= SiEET U et
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[Question ID = 4518][Question Description = Q37_WS_SHAAN_NOV21]

1
2
3
4

. 1 [Option ID = 17535]
. 2 [Option ID = 17536]
. 3 [Option ID = 17537]
. 4 [Option ID = 17538]

38) Which of the following terms refers to the agreed upon and enforceable social floor below

[

1.
Z:
3.

4,

39)

which women's earnings and social protection cannot fall?

(1) Glass Ceiling (2) Concrete floor
(3) Sticky Floor (4) Glass Escalator

freafefias & & =9 3 TS 768 1 G994 36 TR 5T T8 3 FEi-ee 30 SEiees —0ad W O 2
o = afeeet 61 o iR arnfse gran 78 =7 et 27

(1) g Hitem (2) Fshie difem
(3 e difem (4) TEH TR

Question ID = 4519][Question Description = Q38_WS_SHAAN_NOV21]
1 [Option ID = 17539]
2 [Option ID = 17540]
3 [Option ID = 17541]
4 [Option ID = 17542]

According to the world Economic Forum report 2019 which country is ranked first for the
11% times 1n a row for gender equality :

(D Norway (2) Iceland
(3) Finland (4) Sweden

ITE TRATS B TAE 2019 % @R 60 30 3 oFmar 11 = 9] &t oo % 5 gem w9 am
o 27

(1) @ (2) wEnde
3 frwis (4 e

[Question ID = 4520][Question Description = Q39_WS_SHAAN_NOV21]

1.
2.
L8
4.

40)

1 [Option ID = 17543]
2 [Option ID = 17544]
3 [Option ID = 17545
4 [Option ID = 17546]

Which Article reads “Nothing in this Article shall prevent the state from making any special
provision for women and children™?

(1)  Article 15(3) (2) Article 15(2)
(3)  Article 14 (4) Article 14(a)

e i =ae W 77 el T 2 6 5w a=sg 0 =i ft ymuE usw % Afzens gun a=1 W g faw
UEUH FE o T8 UH 7

1) =R 15 (3) (2) =T 1s (2)
(3) =T 14 @) s 14 ()

[Question ID = 4521][Question Description = Q40_WS_SHAAN_NOV21]

1.
2
3
4,

41)

1 [Option ID = 17547]
2 [Option ID = 17548]
3 [Option ID = 17549]
4 [Option ID = 17550]

R. W. Connell’s concept of ‘Patriarchal Dividend’ refers to :
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(A)  Honour and Prestige and material dividends, men accure under patriarchy
(B) The dividend is universally distributed among men and women
(C)  Not all men receive the same share of the patrarchal dividend

(D)  All men gain in the same way or in the same degree

Choose the most appropriate answer from the options given below :

1) (A (C)only
@ &) D) only
(3  (A). (B)only
@  (C), (D)only

AR, Teed, FHe i Tgeers @ (Yeiemse f5fasws) $t sauren =1 wha B 8 9 R i o

(&) Togum % oaia e A A, SaE oiR difas amam T 2 2
B) A el SR AfEwst % dffe w6 fata ga 2
(©) =t gemt i figewrers ondis %1 b @9 YT WH T8 e 2

@®) wfi o9 i U AR Y YA UHE HE A od Bial 2

Fr2 faw o et § W TR ST ST B W SR
(1) =T (A) IR (C)
2) A (A) IR (D)
(3) Faa (A) IR (B)

@ I (C) 3R (D)

[Question ID = 4522][Question Description = Q41_WS_SHAAN_NOV21]
1. 1 [Option ID = 17551]
2. 2 [Option ID = 17552]
3. 3 [Option ID = 17553]
4, 4 [Option ID = 17554]

42)  As per protection of children from Sexual Offences Act (POCSO) 2012 :

(A)  The Act defines a child as a person under the age of 18

(B)  The Act 1s gender neutral

(C) It makes prowvisions for avoiding the re-victimisation of the child at the hands of law

D) A male below 21 years of age and a woman below 18 years of age would be considered
children

Choose the most appropriate answer from the options given below :

1)  @). ®B). (C)only

@ (B, (C). (D) only
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B3 A, (), (D) only

4 @A), (B), (D)only
I Il € e s sittEs, (o) 2012 % SHER
(A  aftafEm A se-eferd 1 18 a9 § w0 3 % =ufE & w9 A gRnfia e T 2
B) =z wifuiEm S () fda 3
(C)  =8" = % Tl sTe-sferTaT O digT uge I 8 s H YEaE 2|

D) 21 38 T 0 3177 P 9ET IR 18 a9 U FA g F AlgeA BT SIcA-SIiAH FHAT 0|

Fr fom o fomreal 6 ® TEE SIS SR B 9 U
Q) = A), B) 3R ()

@  F@a B) (C) ¥R (D)

®  F= (A), (C) (D)

@  Fa Q) B) IR D)

[Question ID = 4523][Question Description = Q42_WS_SHAAN_NOV21]
1. 1 [Option ID = 17555]
2. 2 [Option ID = 17556]
3. 3 [Option ID = 17557]
4. 4 [Option ID = 17558]

43) e e : ;
(Gender sensitization is a basic requirement

(A)  to understand the sensitive needs of all genders
(B) examine the personal attitudes and belhiefs and question the social realities
(C)  to reinforce gender stereotypes in all spheres

(D)  to establish patriarchy in every day life

Choose the most appropriate answer from the options given below :

(1)  (B)and (D) only

(2)  (A)and (B) only

3)  (A)and (C) only

4  (C)and (D) only
(A T for i HEdl STEvERarEl B TagH o T
B) Fafrs sl ot yronst # wrw wE o amies Fad w s w0 % R
(©) @i &=t 8 fom weeht wgamomatt % A Zfewon & fae

(D) e e 3 fgamn wnfid = + g
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= fau e fampedl o & Gem 2ugth ST O =4 it

(1

(2)

(3)

(4)

#ad (B) 31 (D)
e (A) 31 (B)
Fa (A) 3R (C)

Fad (C) R (D)

[Question ID = 4524][Question Description = Q43_WS_SHAAN_NOV21]

oW

. 1 [Option ID = 17559]
2 [Option ID = 17560]
3 [Option ID = 17561]
. 4 [Option ID = 17562]

A44) Womanism refers to :

(A)  challenging universalistic assumptions of white feminism

(B) acknowledges the importance of family

(C)  women centred vision of liberation and engagement resisting oppressive agencies

(D) about supremacy of black women

(E) celebrates the sexuality and strength of black women and recognises they are

survivors of violence and abuse

Choose the correct answer from the options given below :

(1)
(2)
3
(4

(A). (B), (C), (D) only
(B). (C). (D), (E) only
(A). (C). (D). (E) only
(A). (B). (C), (E) only

HHdieae (gufee) = Feha = d @ Gha-foeg Y s 27

&)
B)
©
D)
E)

vord e i wfee gearonett s g <

TRER % Haed I A Hl

it oI g wSthEl % i i wfear $iga gt
Svea wieesT 1 e

ITyad Afeens ot Afwar IR Wk = I00g 79 IR T2 WiwR e % 9 fam oiit geiaer &
STt £l

W fou o forrewl U W T ST SO B W I

(D
2)
(3
@

I (A), (B). (C) 31K (D)
a4 (B). (C). (D) 3R (E)
T (A), (C). (D) 3R (E)

Fac (A), (B), (C) 3R (B)

| [Question ID = 4525][Question Description = Q44_WS5_SHAAN_NOV21]
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| 1. 1 [Option ID = 17563]

2. 2 [Option ID = 17564]

3. 3 [Option ID = 17565]

4. 4 [Option ID = 17566]

45) _ .
The report of the committee on the status of women (1974) made the following
recommendations :

(A)  Equality not merely for Justice but for development

(B) Focus on Women's empowerment

(C)  Marriage and Motherhood should not be a disability

(D)  Maternity leave for working women to be increased from 12 weeks to 26 weeks

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4

(A). (B). (C) only
(B). (C). (D) only
(A), (C), (D) only

(A), (B). (D) only

wfeenart i Fufa Fad afif % wfee (1974) ¥ PFrafafes gogioar 6 2:

(A) = = o T arfug o & o s

(B)  Hiee AAHHO R Tl

(C) foare +i wrgea Frgrean @1 241 =fag

(D)  FE ATl % AT ARe Y w12 TAE T SR 26 TATE R S

W fou 7o fomhedl § O TeE ST SR H T il

1)  Fad (A), (B), (C)

@ = B), (C), D)

(8 =@ (A), (O). (D)

@  F=@d A, B). (D)

[Question ID = 4526][Question Description = Q45_WS_SHAAN_NOV21]
. 1 [Option ID = 17567]

Which of the following are non-probability sampling method?

Purposive sampling
Snowball sampling

Cluster sampling

1
2. 2 [Option ID = 17568
3, 3 [Option ID = 17569]
4. 4 [Option ID = 17570]
46)

A)

(B)

(©)

D)

Stratified samplhing

Choose the correct answer from the options given below :

prepp
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(L
2
3
@

(&), (B) only
(A), (C) only
(C). (D) only

B). (C) only

frefafga o & 0 o R-garfiar yiawm vglen 27

&)

(B)

©)

)

ey gieesm
HAiener vig=aT
= Ul

wlima diaeA

T fow o fameui O W Fe 39AE ST 9 A

D

@

(3

4

et (A), (B)
#Haet (A), (C)
Faa (C), (D)

e (B), (C)

[Question ID = 4527][Question Description = Q46_WS_SHAAN_NOV21]
1. 1 [Option ID = 17571]
2. 2 [Option ID = 17572]
3. 3 [Option ID = 17573]
4. 4 [Option ID = 17574)

47)

How is adultery perceived by law in India?

A
®)
©)
®)

It is a eriminal offence
It can be a ground for civil 1ssues like Divorce
Tt 1s not a ecriminal offence

Only a man wheo had consensual sexual intercourse with wife of another could be

punished

Choose the most appropriate answer from the options given below :

)
@)
3
4

(A). (B) only
(B). (C) only
(C). (D) only

(A). (D) only

Wig | faty g =afEr = ey =a o 2gr s 27

A

(B)

2 gl 940 Srar) favt & foe v anar 2 g%ar 2
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(©)

®)

= fom o fapew | @ Teg 9T IR W T HiR

(1

(2)

(3)

@

[Question ID = 4528][Question Description = Q47_WS_SHAAN_NOV21]

fereit gat safte it uell & @ wER wgefa ¥ A5 gey 9 aret oafts & Efea R o wwar

FaA (A) 3R (B)

Fae (B) 3 (C)

Fact (C) 3t (D)

whelet (A) 311 (D)

1. 1 [Option ID = 17575]
2. 2 [Option ID = 17576]
3. 3 [Option ID = 17577]
4. 4 [Option ID = 17578]

48)

ZIESSt (T 9 SftERR) Ifutem 2019 1 ZiEeiet SafEa gra R onam m By R ooy

A)

(B)

©

D)

e fam o fomreul U W Ter SUgw IO R T it

(1)

@

3

The transgender (Protection of Rights) Act 2019 was met with protest by transgender people

on grounds of :
)
(B)
©)
transgender certificate
(D)  criminalization of begging

Choose the correct answer from the options given below :

@
2
3
@

TTwEt SRR % favg BRETE ol % e ¥ 2
TSt SAREAl % T AT SAREW 3 WEEl et

ZrEsTel SHT T S e % o fren afereez w1 st i amavasa

Lesser punishment for crimes against transgender people
Absence of provisions on mandatory reservations for transgender people

requirement of applications to be made to the district Magistrate for 1ssuance of

(A), (B), (C) only
(B), (C). (D) only
(A), (B), (D) only

(A), (C). (D) only

gt =1 s

%3 (A). (B) 3 (C)

e (B), (C) 3t (D)

#aet (A), (B) 3t (D)

-

A

prepp
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{4) et (A), (L) AL (L))

[Question ID = 4529][Question Description = Q48_WS_SHAAN_NOV21]
1. 1 [Option ID = 17579]
2. 2 [Optien ID = 17580]
3. 3 [Optien ID = 17581]
4. 4 [Option ID = 17582]

49)  Which of the following are correct about Ethnographic Research?

(A) It 1s a survey method
(B) Investigation through observation
(C) Collect and interpret descriptive data

(D)  Study of people in their environiment

Choose the most appropriate answer from the options given below :

1 (A), ®B), (C)only
@ A, (C), (D) only
(3 (A, (B). (D)only
@  (B).(C). D) only

Frder iy % ey © f=fefaa § @ on-wn g 27
(A) T T TaEw ggid 2
(B) T % WEE W =T

(C) Tawa % st = @ug BT ST 711 HEl

(D)  =AHAl 1 39 Qe ¥ ITOTEE

= fou v foehedi § W FeH SUETh SO B T BT
(1) == (A), B). (©)

2)  w@d (A), (0), (D)

8 =@ (A), (B), D)

4  Fad (B), (C), (D)

[Question ID = 4530][Question Description = Q49_WS_SHAAN_NOV21]
1. 1 [Optien ID = 17583]
2. 2 [Optien ID = 17584]
3. 3 [Optien ID = 17585]
4. 4 [Option ID = 17586]

20} Which of the following are the characteristics of grounded theory in Research?

(A) It is a ‘Systematic Methodology largely applied to quahtative research’
(B) Involves formulation theories

(C) Involves the application of Inductive reasoning
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(D) It is a deductive model used for testing the hypotheses

Choose the most appropriate answer from the options given below :

1 (A).B). D) only

@ (&), ®B). (C) only

3  (®B),(C), (D) only

@ (A, (). (D) only

e A auR (Tefye) Rigm & Prateiaa # 3 F-d faftmgad 27

A)
®B)
<

D)

Tz T goEteda dgid 3 B sftrrat omesss sy d @ G s 2
=od firgrat @1 Fregor afthfera 2
TGN STPTATERE @ T STIIA WieAfera 3

T2 UTEETT & 0% % o = =9 T e 5s 2

e feu o fampeul o O Te I9AT IR W TEA i

ey

@

6))

4)

Fa4 (A). (B), (D)
a3 (A), (B), (C)
#ae (B). (C). (D)

Fa (A), (O). (D)

[Question ID = 4531][Question Description = Q50_WS_SHAAN_NOV21]

1
2
3.
4. 4 [Option ID = 17590]

. 1 [Option ID = 17587]
. 2 [Option ID = 17588]

3 [Option ID = 17589]

51)

T RS v & wu ° afgen s1tE & 9n 0 fAefefiad d 9 en-a w@di 27

Which of the following are correct about women's studies as an academic discipline?
(&)

(B)
©

Analyse social and cultural construction of Gender
Promotes androcentrism

Aims to ensure more power to women

)] Challenges the male centred knowledge

Choose the most appropriate answer from the options given below :

1)
(2)
(3
(4)

(A). (B). (D) only
(B). (C). (D) only
(A), (B), (C) only

(A). (C), (D) only

prepp
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A)
®)
(©)

D)

Szt 1 g SR weplem = F v
TFy ST 1 U
nfeeniant % fom it =i gifra 0 1 ok aféa

U9 Siega T B ] ST

Fi=t feg e ferpeat § © wew 39w sat R = Hife

@)
@
3

@

a4 (A), (B). (D)
#ae (B). (C), (D)
a9 (A), (B). (C)

#ae (A), (), (D)

[Question ID = 4532][Question Description = Q51_WS_SHAAN_NOV21]
1. 1 [Option ID = 17591]
2. 2 [Option ID = 17592]
3. 3 [Option ID = 17593]
4, 4 [Option ID = 175%4]

52)

Which are the ‘Sex’ related facts below you consider most appropriate?

(A) women give birth to babies, men do not
(B) girls are gentle ; boys are rough
{C) doctors are men ; nurses are women

(D)  Boys’ voices break at puberty. girls’ do not

Choose the most appropriate answer from the options given below :

(1) (A)and (C) only
@ (&) and (D) only
(®  (©)and (D) only

4  (B)and (D) only

Frfetia fom snuif@ asai 5 9 5% o9 warias S9® 9Fd 2 7

(A)

B)

©

(D)

wigemd fomgati 1 S S B, T T

STl 1 A 7 WY B W 2 S 2, sterserett 1 T

= fou 7y el § W Tos gt SO Bl T Hie:

e

Had (A) 3T (C)
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e (A) TR (D)
Fad (C) 3 (D)

w4 (B) 31t (D)

[Question ID = 4533][Question Description = Q52_WS_SHAAN_NOV21]
1. 1 [Option ID = 17595]
2. 2 [Option ID = 17596]
3. 3 [Option ID = 175%7]
4, 4 [Option ID = 17598)

>3) Gender budgeting scheme was launched in 2008 to achieve gender main streaming and

gender perspective in policy formulation, resource allocation and implementation

(A) To ensure financial outlays and policy commitments have gender perspective

(B) It was specifically targeted expenditure for women and girls and pro-women

allocations

(C) To provide income tax benefit to women

(D)  To eliminate all forms of violence against women and girl children

Choose the correct answer from the options given below :

(1)
(2)
(3
(4)

(A) and (B) only
(B) and (C) only
(A) and (D) only
(C) and (D) only

SISt ST 912 s H THE W 2008 ° STRY e Tn om antss Aifa fFrewe, wEem omEea ofR

fFaTa § TSt 1 gEagT d @ S, 6IR Set 9ttt e fR s w9

A)
(B)
©)

(D)

ol uftemy ot ify aemergarett 4 Siet gftiem =61 giafvea e
T AfEenst 3R arfermstl % foru e =v & afdym =53 ok afier-usfim amaea o
AfEATAT Bl STEH AT UG HE

Afeematt ofR arferish & favg B % oo T4 & g9" 01

T fou o fapewi F W Tl SWER ST A = i

)
@)
3

4)

Faet (A), (B)
F (A), (C)
%A (A), (D)

%ae (C). (D)

[Question ID = 4534][Question Description = Q53_WS_SHAAN_NOV21]
1. 1 [Option ID = 17599]
2. 2 [Option ID = 17600]
3. 3 [Option ID = 17601]
4. 4 [Option ID = 17602]

54)

Name the feminist activists who tried to charge the legal approaches to pornography by
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framing it as civil rights violation
(A)  Catherine Mackinnon
(B) Andrea Dworkin
(C) Mary Daly

(D)  Juhlia Kristeva

Choose the correct answer from the options given below :

(1)  (A), (B)only
@  (B).(C)only
(3 (C).(D)only

4 (A), (D) only

H TREE FEFEART $ AW §an, e s TRl F v fGts ot m w1 gl 99 gu fufaw

ATFBRT = 7T qaqT|
Ay  FlE nfEm

B) Tl ARt
(C) =ft gl

@)  spfer o

e fom fapeat o O Tag 3ugw I H 95 i
@O  FA A, B)
@  Fa B, (©)
3 %= (O), (D)

4 = Q). D)
[Question ID = 4535][Question Description = Q54_WS_SHAAN_NOV21]
1. 1 [Option ID = 17603]
2. 2 [Option ID = 17604]

3. 3 [Option ID = 17605]
4, 4 [Option ID = 17606]

23] Hermeneutics as a theory and methodology :

(A)  Isthe study of interpretation and the theory and practice of interpretation

(B) Is denved from religious studies and linguistics, traditional hermeneutics such as

biblical hermeneutics
(C) Modern hermeneutics is developed by Heidegger and Hans-Georg Gadamer

(D) Contemporary hermeneutis is developed by the Brazihian Augusto Boal and Paulo

Friere

Choose the most appropriate answer from the options given below :

(1) (A). (B). (C) only
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2y  (B).(C). (D) only
3 (@A) (B), (D)only
@ (A (C), (D)only

u g 1 ugla % w9 ¥ ey dfmr

(A) = SR g # STeEEA S SE ) S9eRr 2l

B) = Faw ey g S ol Hermet, aifieE st ok a fae @ P e o 2
(C) @y et Hiam 2R AR TE S e 7 fawtia e 2

D) T T e e % TR wsd o wel %I A R 2

e fau foepeai °§ § w99 SUET ST W = it

(D
@
(3

@

et (A). (B), (C)
A (B). (C), (D)
#ae (A), (B). (D)

Fa9 (A), (C), (D)

[Question ID = 4536][Question Description = Q55_WS_SHAAN_NOV21]
1. 1 [Option ID = 17607]
2. 2 [Option ID = 17608]
3. 3 [Option ID = 17609]
4. 4 [Option ID = 17610]

56)

The ILO Resolution 2014 regarding the expansion of the definition of Women's work,

recognized, unpaid work performed by women within household in the following

(A) self care works (personal grooming, hygiene etc)

(B)  all work that do not involve any form of production of goods or services

(C) activities that cannot be performed by another person on one's own behalf (own

activities for recreation learning etc)

(D)  additional work performed in fields

Choose the most appropriate answer from the options given below :

(1)
(2)
(3
(4)

(B), (C) and (D) only
(A). (B) and (D) only
(A). (B) and (C) only
(A), (C) and (D) only

et & @ ) UNETT % RER % g9y § A5 U o d%eu, 2014 F=fafgs 3 ofEr % diw
afzenet g o Frel gram % 7Fe e wE W A e

A)
(B)
()

T

T T @ 1 EE (FARRE SE-R), s, we)
oy wofi =l T W W o = Seares w1 2

TR S et =it fr s o wig 3= T8 = @ 3 (WA, T s, enfe & fog
551 o)

=t T fior o e =t

prepp
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y—r e rooaome e * v —aaama 3w T

2 fro frpetl § A TR S9IE SR W A A
O @), (), D)
(2) = (A). (B), (D)
(3 == (A). B), ()

@  FFE A ©), (D)

[Question ID = 4537][Question Description = Q56_WS_SHAAN_NOV21]
1. 1 [Option ID = 17611]
2. 2 [Optien ID = 17612]
3. 3 [Optien ID = 17613]
4. 4 [Option ID = 17614]

57 A ) . e g
) Whach of the following are techniques of female stermlisation?

(A) DMimlaparotomy
(B) Laparoscopic
{C) Vasectomy

(D)  Vacuum aspiration

Choose the correct answer from the options given below :

(D (A) and (B) only
@) (B) and (C) only
(3) (C) and (D) only

4) (A) and (D) only

freafafa § o F-9 = Seieso $i afafe §9

a) ffewE
B R

(C)  aEwm

D)  Hrm el

3 fou frredl § B Tl 3HI ST W T B
1) Fad (A) 3R (B)
@  w=a (B) ¥R (C)
3 =« (C) 3R (D)
4 P (A) 3R (D)

[Question ID = 4538][Question Description = Q57_WS_SHAAN_NOV21]
1. 1 [Option ID = 17615]
| 2. 2 [Option ID = 17616]
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| 3. 3 [Option ID = 17617]
4. 4 [Option ID = 17618]

58)

Main Reasons for women’'s work being largely excluded from statistical data are

(A) cultural construction of women's work
(B)  inwvisibility of women's work
(C)  sensitivity of the investigators

(D)  difficulties in measuring women's work

Choose the most appropriate answer from the options given below :

D @A), B).(C)only
2 (B).(0). (D) only
3 (@A), (C), (D)only
4 (@A), (B). (D)only

Tifeahia Ahet § Afzenat g 56U e =t =i Sftma Wit = fre S % g% w3

&)

(B)

©)

@)

TfgeTrat = ! il GRS T
afeeTIeT % FET T IAGTA T
ST T TETE e

afgenstt % HEl w1 40 9wl

18 fau fompedi © ¥ W99 SUT® SR 1 = Shiow:

(L

(2)

(3)

)

*ae (A), (B) # (C)
Fa (B), (C) 3 (D)
Fad (A), (O) 3 (D)

et (A), (B) #iit (D)

[Question ID = 4539][Question Description = Q58_WS_SHAAN_NOV21]
1. 1 [Option ID = 17619]
2. 2 [Option ID = 17620]
3. 3 [Option ID = 17621]
4. 4 [Option ID = 17622)

59)

Who argued that Western feminists constructed third world women as a monolithic group

reduced to being the victims of patriarchal cultures and traditions?

(A)  Sarojimi Naidu
(B) Gayain Spivak
(C) Chandra Talpade Mohanty

(D) Flavia Agnes
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foree 77 a1 & T ufverdt anfanfeai = dedi gfen = afeamet &, o figaacrs swesfoat ot wouet 6

Choose the most appropriate answer from the options given below :

1 ). B only
@  (B).(0). only

(3  (©),(D)only

@  (A). (D)only

difsanstt % v v wgg =0 4, @A 27

)
(B)
©)

D)

wufst amg
e =
gl dTeIE Hig-dl

B ﬁ

Hi% 2 fomredi © @ wo@ Iuz® I B T Hifaw

(1)

2)

(3)

4

[Question ID = 4540][Question Description = Q59_WS_SHAAN_NOV21]

F (A). (B)
Fa (B). (C)
Fac (C). (D)

T (A). (D)

1. 1 [Option ID = 17623]
2. 2 [Option ID = 17624]
3. 3 [Option ID = 17625]
4. 4 [Option ID = 17626]

0)  Which of the following 1s true about Conditional Cash Transfer Schemes (CCTS)?

T The 7ol whmt (b S ww) Fer A Pefafga i T we - AR E 2

(A)

(B) CCT aims at reduction of poverty

(C)  CCT aims at social empowerment

D)

Choose the most appropriate answer from the options given below :

D
2
(3)
(4)

attendence etc

(A). (B). (C) only
(B). (C). (D) only
(A). (B), (D) only

(A), (C), (D) only

S Y o P D o VAN i e ) SUSRSIN o o s i,

CCT schemes allocate cash directly to poor house holds

&
iz

Beneficiaries have to fulfill conditions like health checkup, Immunization. school

?
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G RSREIERR MR G S
®) & & e 2 e J i e

(C)  © g1 ¥ w1 wgx 2 "l guiithen

D) <TRE = e i, SR, e § saftata, o S Al G e g
Hie fou et o O @&l s = = i

(1) == @A) B), (C)

@ @ B), (©), D)

® 4 (A), B), (D)

@ = (), (©). (D)

[Question ID = 4541][Question Description = Q60_WS_SHAAN_NOV21]
1. 1 [Option ID = 17627]
2. 2 [Option ID = 17628]
3. 3 [Option ID = 17629]
4, 4 [Option ID = 17630]

61)

Self Help Groups (SHGs) are

(4)
(B)
©)
D)

Urban-town based financial intermediary committees of 10-12 local women and men
Fast emerging as a promising tool for promoting income-generating enterprise
An informal arrangement for credit supply to the poor

A viable alternative to achieve objectives of rural development through community

participation

Choose the most appropriate answer from the options given below :

(1)
2)
(3)
4

(A), (B) and (C) only
(A), (B) and (1)) only

(B). (C) and (D) only
(A), (C) and (D) only

T TEEa oY (@ o) ————

(A)  10-12 T afgenaa it ggat F wedt ia foefia aonadt wfafa

(B) 3T Yo W ATC IANT F TFYA F A A W IURAT WAL T R ST

(C) AT =t =hw weE B il AT S

(D) R wrier % wem & ardfi e $ stval f oy 5 e s s fme
H1% fau fameqi 4 @ ul 3ot = 999 Fifaw;

1) %4 (A), B), ©

@ = (A). B), D)

(3

wad (B), (C). (D)
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@  w=a (A), (0. D)
[Question ID = 4542][Question Description = Q61_WS_SHAAN_NOV21]
. 1 [Option ID = 17631]

. 2 [Option ID = 17632]

1
2
3. 3 [Option ID = 17633]
4. 4 [Option ID = 17634]

o] Which of the following are the key Amendments in the Matermity Benefit (Amendment Act of

2017)?

(A) Increased paid maternity leave

(B) Maternity leave for adoptive and commissioning mothers
(C)  Work from Home option

(D)  Creche facility

(E) Financial cost 1s shared by Government employer and insurance agency

Choose the correct answer from the options given below :

1) A). B). (O), (E) only

@ B, (O), (D), (E) only

3 @A), B). (C). (D) only

(4) (A). (C). (D). (E) only
wgfa wfaer (dees) sifafEm 2017 o Feafafaa § si9-=0 o g goea 27
(A) =T 5 Taa Tgfa StEm
B) = 9 A wE Tl T % o gl sEmm

(C) =T W FH F wed

D)  forgaa giaen

(E) o o o, fame i i ooidl g/ org 59 1 989 6 91 3

fte fou et 4 @ w9 S W 9= il
1) F=A A, B). (C). ()
@ = B), (C), D). E)
(3 A (A). B). (€), D)
@  FEA), (©), D), @

[Question ID = 4543][Question Description = Q62_WS_SHAAN_NOV21]
. 1 [Option ID = 17635]
2 [Option ID = 17636]
3 [Option ID = 17637]
4 [Option ID = 17638]

bl B

3)  What is true about hypothesis?

(A) Some research studies are conducted merely to generate hypothesis
(B)  All research studies begin and are carried out with the help of hypothesis
(C)  Hypothesis helps to the efficient organisation of data

(mm Hynothesiz are formulated in the form of tentative answers to research anestions
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Choose the correct answer from the options given below :

@O @) B and ©)
@ @A) (©) and (D)

3  (A). (B)and (D)

4  (B).(C)and (D)
TEHoTA] & TeY § 71 Ual 2
(A)  HIIT WY FET A WIS % g9 % T FRe S 8
(B) T WY ATHA THECTT H HeEd H GF N R frw o #
(C)  TEoT ATHS! I SHAYIT WS I | HEEH Bd &

D) SrEeTE w1 FEer s agAl % mifie s % = ° R e 2

Fi2 fou el 9 © T8 ST T 99 i
(1) == (A). B), (O)
@ =4 (A). (©), (D)
@ 4 (A), B). (D)

@ e (B). (O, (D)

[Question ID = 4544][Question Description = Q63_WS_SHAAN_NOV21]

1. 1 [Option ID = 17639]
2. 2 [Option ID = 17640]
3. 3 [Option ID = 17641]
4. 4 [Option ID = 17642]
64) i :
Match ILast I and Last I1 :
List I List IT
(Persons) (Places)
(A) Easterine Kire (Poet) (). ' Manipur
(B) Irom Chanu Sharmila (Civil Right (II) Assam
Activist)
(C) Mamang Dai (Poet. Novelist) (III) Arunachal Pradesh
(D) Indira Goswami (Poet writer) (IV) Nagaland

Choose the correct answer from the options given below :

@D @I, E&)-D. ©)-1D, O)-aV)
@  A)-D, B)-O. (C)-D). (D)-AV)
3  A-AV), ®-O. (O-1D), (D)-AD
@ @O ®-dD. (O-dID, (D)-aV)

Tl 1% oy qet I = e o)

— T —ifr TT
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(A)
B)
(&)
D)

9 T 7o foeul o © g8 39 W WA St

(1)
)
(3)
4

o

e

(=aTE)

Teaa T ()

w0 = wiften (fufoer sfiesm =edewat)

A 2T (A, TUATEER)

st e (F, oTw)

(A)-(ID). (B)-(D), (C)-(110). (D)-(IV)
(A)-d1ID. (B)-@), (C)-D), M)-AV)
(A)-IV). B)-(D. (O)-ID). (D)-AD)
(A)-(D). B)-AD). (C)-UID). (D)-AV)

TR

Fam

@O AT
Il =w@m

(IID) EITEA T

[Question ID = 4545][Question Description = Q64_WS_SHAAN_NOV21]

B R L ]

. 1 [Option ID = 17643]
2 [Option ID = 17644]
3 [Option ID = 17645]
4 [Option ID = 17646]

63)  Match Tist Tand ListIi:

List I
(A) Veena Mazumdar

(B) Neera Desal

(C) Armaity Desai

(D) Devaki Jain

Tist IT
(I Initiated capacity building for women
inn Higher Education Programme

(II) Founder of centre for women
development studies supported by
ICSSR

(IID Founder of Institute of Social Studies
trust

(IV) Founder of the research centre for
Women's Studies in SNDT Women's

University

Choose the correct answer from the options given below :

(1)
2
3
4

gt 19 a1g g 101 =7 e Hif)

&)

B)

(&)
D)

= 2u 1o fameqi © o 9t 2o % 994 e

(1)
2

TTHT 9

(A)-D. B)-1D), (C)-(ID). (D)-AV)
(A)-0), (B)-IV), (C)-(@). (D)-(ITI)

A)-D). B)-1D, (O)-(I1D, (D)-IV)
(A)-D, (B)-IV), (O)-[), (D)-(I1D)
(AMID), (B)-(I1D). (C)-AV). (D)-D)
(&)-(ID), (B)-(IV), (C)-@). (D)-I1D)

TEi-11

M = o wEwy d afeeett # fou awa-
TAmrtor s e

dD) =nE. @t u™. W, IR, 3N GAidd Afgen
o 15 g T

(AIT) FTRTER STSAET = 959 = TSI

(IV) wH. T, 3. ¥, ufien featiEes § ofen
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(3  (AdD, B)-IID). (O-AV), (D)-M
4  (A)-D, (B)-AV), (C)-[D). (D)-II)

[Question ID = 4546][Question Description = Q65_WS_SHAAN_NOV21]
1. 1 [Option ID = 17647]
2. 2 [Option ID = 17648]
3. 3 [Option ID = 17649]
4, 4 [Option ID = 17650]

66) Match List I and List IT :

LastI List IT
{People) (Organisations)
(A) Nish Bora (I) Control Arm Foundation and Manipur
women Gun-Survivor Network
(B) Binalakshmi Nephram (I} El Rhino-Saving rhino and generation
of livelihood
(C) Alana Golmel (III) North east support centred helpline for
fighting discrimination against
North-East People
(D) Hasina Kharbhin (IV) Impulse — NGO 1in Meghalava fighting
against trafficking

Choose the correct answer from the options given below :

1y (@-D. B)-AD. (C)-11LD). (D)-AV)
(2)  (A)-AD. B)-D), (C)-1L), (D)-AV)
(3)  (A-D. (B)-(0), (O)-AV). (D)-(D
@ (A-ID. (B)-I). (O)-(IV), (D)-(III)

T 15 Ty T 10 firem =ifsma)
=1 =11
=t A
A) e e @O Hw W wEsmE e g fee
TH-GTe15eR, A2e
®) i THm ﬂDwuﬁﬁﬂﬁﬂﬂﬁ@ﬁmﬁw
ATZAAIES
(C)  IremT g AID) <™ & Ui HeX Ug gouens W Wi
D) = = AV) Iem-uT S o7, ROeE - q@hd B g
A

= feu o el 4§ @ 39 = wEa it

1 (A-O. B-dD. (C)-AIh, M)-IV)
2y  A-D. B)-OD. (O)-AD. O)-aV)
3) (A1, B)-dD, (O)-1V), D)D)
@  (@-dD. B)-M. (O)-av). (O)-1

[Question ID = 4547][Question Description = Q66_WS_SHAAN_NOV21]
. 1 [Option ID = 17651]
2 [Option ID = 17652]
3 [Option ID = 17653]
. 4 [Option ID = 17654]

oW

67)  Match List I and List IT :

List I List IT
Women Leaders Country

L Y A 1 K 1 k] T ™—* 1 1
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o

®)
©
D)

ﬂuﬁ‘?m AVECL LT Kl.} L LLLLCLLIVA
Sanna Marin (II) New Zealand
Jacinda Arden IID Germany
Tsai-Ingwen V) Taiwan

Choose the correct answer from the options given below :

(1 (A)-IV), (B)-dD), (C)-d1D), D)-D)
@ @O B)-0D. (O-aID, @)-aV)
(3) (A)-AD), (B)-(IID. (C)-AV). (D)-MD
(4 (A)-ID), (B)-@), (C)-D), M)-AV)
o=t 1 @9 g=t I1 = fyem $ifsm)
g1 ge-11
wizer ar 11
(A) Ui TR O s
B) w0 T an =i
() Sfast st A1) =
@) E T IV) aEam

Hra f2u T fawew § O O I w1 999 Fieu -

(1)
(2)
(3
(4)

(A)-IV), (B)-AD. (C)-d1D), (D)-D
(A)-(D. (B)-AD), (O)-1ID, (D)-IV)
(A)-(ID), (B)-(ID), (C)-IV), (D)-(D)
(A)-(ID), (B)-(), (C)-AD), (D)-AV)

[Question ID = 4548][Question Description = Q67_WS_SHAAN_NOV21]

o o

. 1 [Option ID = 17655]
2 [Option ID = 17656]
. 3 [Option ID = 17657]
4 [Option ID = 17658]

®8)  Match List I and List 11 :

(A)
(B)
©)
D)

Last I List IT

Author Work

Audre Lorde (I Black feminist thought
Sojourner Truth (II) Age race class and sex

Patricia Hill Collins (III) In search of our mothers garden
Alice Walker (IV) AintIa woman

Choose the correct answer from the options given below :

(1)
@
(3)
€

(A)-(D, (B)-@V), (O)-1), (D)-(I1I)
(4)-aD, B)-(IID, (O)-aAV). (D)-D
(A)-(D, (B)-(I1I). (C)-(@), (D)-AV)
(A)-(D). B)-10), (C)-(1ID), (D)-AV)

Tl 19 T g 11 1 firem =ife)
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get-1 a=-I1
SIeEs GO
(A) g & @ =& FiOFRe R
(B) @ISR g4 an e, @, T U v
(C) vifmn fem Frferw (I) 3 &9 I TR 756 M
D) vferm dE (IV) T e A o
Hi= f3u 1 oot O o 9t 39t w1 == it
1) A-0, B)-AV), (O)-D, (O)-UD
2 (A1), B)-(IALL. (COIV). D)-D
3)  A)-1), B)-IID, (C)-1), (D)-AV)
(4) (A)-D), B)-AD). (C)-dLD. (D)-AV)

[Question ID = 4549][Question Description = Q68_WS_SHAAN_NOV21]

1. 1 [Option ID = 17659]
2. 2 [Option ID = 17660]
3. 3 [Option ID = 17661]
4. 4 [Option ID = 17662]
69) Match List I and List IT :
List I Last II
(Schemes) (Merger)
(A) Mudra scheme (I) State Bank of India
(B) Bharativa Mahila scheme (I) Imstrict Industries Centre
(Cy Trade Related Entrepreneurship (III) Sishu. Kishore, Tarun
Assistance and Development
(TREAD)
(DY Prime Minister Employment (IV) Micro. Small and Medium Enterprises
Generation Programme (PMEGP) Development Institute AMSMEDI)
Choose the correct answer from the options given below :
(1) (A)-(IV), (B)-(D). (C)-(IID). (D)-(ID)
(3 A)-II), (B)-(I), (C)-IV). (D)-(I)
(4) (A)-(ID), (B)-(IV). (C)}-(IID). (D)-(I)
Tt I Ay g I % Ty shifsm
et I
PIECIL AP A et Tl 3R T e
A) T A @O w2 7% % my ferm
(B) WA 9izen T AD e 3= %z
(C) =mm Tadi sufta mEma@ w@ fem D) fm, feee, o
(TREAD)
D) waEEf U7 R go[ T (PMEGP) AV) g, &g R 9eEg sEm faem oeye

(MSMEDI)

Hi= fou 7w fapeul § 4 UEl 30 % == shifag

M

fANY M MY M ACD TIT T T
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(2)
(3
(4)

(A)-aD. (B)-(D), (C)-AV). (D)-(ILD)
(A)-dD). (B)-@), (O)-AV). (D)-dL)
(A)-(ID, (B)-(IV). (C)-(1D), ()-(I)

[Question ID = 4550][Question Description = Q69_WS_SHAAN_NOV21]

1
2
3.
4

70)

. 1 [Option ID = 17663]
. 2 [Option ID = 17664]
3 [Option ID = 17665]
. 4 [Option ID = 17666]

Match List I and List I1 :

List I
Concept
(A) Dysphoria
(B) Sexism

(C) Cis-Gender

(D) Gender Insensitivity

List IT
Explanation

() Discrimination based on gender

(I) The absence of appropriate gender
1dentity

(III) Ignoring gender as an important social
variable

(IV) Sex and Gender i1dentity match

Choose the correct answer from the options given below :

1)  A-O, ®&-AII). (O-1D. (D)-AV)
@ @O, ®-AD. (O-aID, (D)-AV)
(3  A-Ih. B)-1IID. (O-AV), O)-D
@  A-an. \B)-. (O-1v). O)-dID

gl I % @ra g II = faam Sifsm)

4)
®)
(©)

g1

HHodl
fearwifen
IR (Sexism)

D) <i=t g

i fau 7 famsei © O 9t I % == il

(1)
(2
3
@)

(A)-D), (B)-dID. (OID). (D)-IV)
(A)-D, (B)-AD), (O)-11ID, D)-IV)
(A4)-(I0), (B)-(I1L). (C)-(AV), (D)-D)
(A4)-(ID). (B)-(I), (C)-(1V). (D)-(1ID)

gh-I1
T
@ <=t wruiia deuE
dD) STEE S uEEH i siguteata

(Il) ©s weeaqol amifors <X % &9 4 Sist 6l
suaT

@V) e 3t det ug=me 1 09

[Question ID = 4551][Question Description = Q70_WS_SHAAN_NOV21]

o

. 1 [Option ID = 17667]
2 [Option ID = 17668]
. 3 [Option ID = 17669]
. 4 [Option ID = 17670]

) Mateh List T and List I :

List I
(Concepts)

TList IT
(Explanation)

prepp
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(A) Power over

(B) Power with

(C) Powerto

(D) Power within

prepp

Your Personal Exams Guide

(I) Power i1s built on force, coercision,
domination and control

(II) Shared power that grows out of
collaboration and relationships

(IIT) Productive or generational potential of
power

(IV) Related to person’s sense of self worth
and self knowledge

Choose the correct answer from the options given below :

1 @D, ®-dAD, (C)-dID. (D)-AV)
2)  A-d). (B)-ILD). (O-1V), D)-D

(3  (A-D, B)-AV), (O)-1), (D)-(ID)
@  @-Iv). B)-O. (C)-dI). (D)-(ILD)

gt 1% @ g 1T = e i)

g1

HHoqAl

(A) T 7% (Power over)

(B) = Wiy 7fE (Power with)

(C) 1 =is (Power to)
(D) H wfe (Power within)

F= fom o fowemi § & T9 SR % 99 it

(1)
2
(3)
(4)

(&)@, (B)-ID, (O)-d1D), (D)-AV)
(A)-dD), (B)-(IID). (C)-IV), D)-D
(A)-(ID, (B)-IV), (G)-(D). (D)-(L)
(A)-@V), B)-(D. (O)-(1D), (D)-(IID)

eI
T
@ wftr = FEiw gEmE, sow, WM SR
foemror ax g3 2
D) =t wke S HEEm SR "Wl ¥ fowi

2
Lcd

AII) =k = ScUe® A1 SIS T
(IV) =iith % w@Hea 3 TEyE U dette 9y

[Question ID = 4552][Question Description = Q71_WS_SHAAN_NOV21]

oW =

72)

. 1 [Option ID = 17671]
2 [Option ID = 17672]
3 [Option ID = 17673]
4 [Option ID = 17674]

Match List I and List II :
List I
(Movements)
(A) Blank Noise
(B) Slutwalk
(C) Pinjra Tod (Break the cage)
(D) Pink Chaddi (Underwear)

List IT

(Issues)
() Against eve teasing
(IT) Sexist curfew rules in student hostels
(ITI) Moral Policing

(IV) Victim blaming

Choose the correct answer from the options given below :

Q) @AM, B-AV). (C)-dD). (D)-(ID)
2 (A1), (B)-ID), (C)-IV), D)-(D
(3  A-AV). B)-dD). (C)-@). (D)-UD
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(2) (A4)-(11). (B)-(1V). (U)-(L11), (V)-{1)

o= 1% @y g 11 7 T shifs

- g1
(&) =% AE @ afrenst 3 doars % frey
B) TR = ) BEEE | o enaria w6 Fem
(C) Fiewr as () e Tl (Moral Policing)
(D) i =gl @V) s = IR

= fov 7o feTt © ® TE SR W 99 e

(1) (A)-D. B)-AV). (C)-1I). (D)-(ID)

2)  (A-AD). B)-dID. (O)-AV). D)D)

3  A-av), B)-d), (C)-@), (D)-(1I)

(4) (A)-(1D). (B)-(IV). (C)-{IL). (D)-1)
[Question ID = 4553][Question Description = Q72_WS_SHAAN_NOV21]
. 1 [Optien ID = 17675]
. 2 [Optien ID = 17676]

1
2
3. 3 [Option ID = 17677]
4. 4 [Option ID = 17678]

73) " Match List T and List I -
ListI List II
(Women's Magazine) (Country)
(A) MS Magazine (IO India
(B) Manushi (II) UK
(C) DBluestocking (III) USA
(D) SpareR,b aIV) Japan

Choose the correct answer from the options given below :

1) @-@. B)-dD, (C-dID, D)-AV)
@  @A-0D. B)-D. O)-I1D, O)-IV)
(3)  A-D). B)-O. (C)-AV). (D)-ID
@  Q)-AV), B)-O. (O)-1D). (D)-(ID)

T 1% 9 gt 11 %1 e it
it T=fi-II
(&) 7 FEHE @O v
® =g D pees e
(C) oAt (IT) T T ST

Y

D) TR ™ IOv) =moe
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4 fou e famedt W @ TE I @ A Fifo

(1)  A-D, B)-di), (C)-dID), M)-IV)
(2) (A)-D. (B)-(D), (C)-1D), (D)-IV)
(3  (A-IID, (B)-D, (C)-0AV), (D)-AD
(4) (A)-AV), (B)-(0). (C)-dD). (D)-(III)
[Question ID = 4554][Question Description = Q73_WS_SHAAN_NOV21]
1. 1 [Option ID = 17679]
2. 2 [Option ID = 17680]
3. 3 [Option ID = 17681]
4. 4 [Option ID = 17682]
74)  Match List T and List II :
List I List IT
(A} Annie Besant (I} Green Belt Movement
(B) Kasturba Gandhi (D) Swadeshi Movement
(C) Sabbama (II) Salt Batyagraha Movement
(D) Wangari Maathaa (IV) Home Rule Movement
Choose the correct answer from the options given below :
L  A-dV). B)-dD). (C)-D). (D)-(1ID)
(2) (A)-(IV), (B)-(I11), (C)-(I), (D)-(D
3 Q- B)-AD), (O)-dID), D)-IV)
(4) (A)-(D), B-{1D), (C)-(IV), (D)-(I1)
Tt 1% = gt 11 1 fer #ifso)
-1 -1
=1f g
(&) v e A T e
(B) g e dAD) = e
(C) = dIl) 9% TAwz A
(D) @l T AV) 3 wA g

= fau 7o fawent § o o 9% w1 o hiftm

(1
@
(3
@

(A)-AV), B)-AD). (C)-(D). (D)-(ID
(A)-AV), (B)-A1D), (C)-dD), M)-(D
(A)-(1), (B)-AD, (C)-(IL), (D)-AV)
(A)-(D), B)-1D), (C)-AV), (D)-AD

[Question ID = 4555][Question Description = Q74_WS_SHAAN_NOV21]

1
2
3.
4

. 1 [Option ID = 17683]
. 2 [Option ID = 17684]

3 [Option ID = 17685]

75)

. 4 [Option ID = 17686]

Match List I and List II :

prepp
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A)
®)
(©)
D)

List I

Proponents

R.W. Connell
Sandrow Harding
Nancy chodorow
Judith Butler

List IT

Theories
(I) Stand points Epistemology
(I) Relational theory
(III) Queer theory

(IV) Hegeneonic masculinty

Choose the correct answer from the options given below :

1) (A)-(ID, (B)-(D). (C)-(IV). (D)-(11D)
@)  A-n, B)-AV), (O)-@. M)-dD
@)  A-IV), ®-O, (C)-(). (D)-(IID)
@ G-IV, ®-dD. CO)-O). O)-dAID
T 1% =i g 1 = T it
-1
T
(A) IR, Tog FE
B Hegraen
(©) i wenE
D) Tfew seer
i faw et O @ gt sov = = fithe
(1  A-ID. B)-M. (O)-aV), (D)-(1ID
2 A-dID. B)-avV), (C)-O, (D)-dD
3)  A-1V), B)-O. (O)-1D), (D)-(ID
@  (Q)-0V), ®-ID. (C)-D), (D)-(1ID)

11
@O s e TS
an femaa Pred

[Question ID = 4556][Question Description = Q75_WS_SHAAN_NOV21]
. 1 [Option ID = 17687]
. 2 [Dption ID = 17688]
. 3 [Option ID = 17689]
. 4 [Option ID = 17690]

1
2
3
4

76)

Match List I and List IT :

A)
(B)
(©)
0

Last I
Gynarchy
Gynelatory
Gynocracy
Gynophobia

List IT
M) Worship of women
(I) Women’'s rule

(III) Aversion to or fear of women

(IV) Government by women

Choose the correct answer from the options given below :

)
(2)
(3

(A)-O, B)-1D), (C)-III), O)-aAV)
(A)-AV). (B)-AD). (C)-(I1D), (D)-(I)
(A)-(D, (B)-ID), (C)-0D), M)-aV)

L FSTE Th e m bt Fa Y Er . oY Fa m FT % ST T
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V=g LERTALY Fo VEATEIL e ST ALY LIS LY
g=ft I |rg g= I = faem sifsm)
-1
ST
a) =i
(B) -
(C) #tax
(D) =isfifa

H9 fou U fowedl § § U9 SR 99 S

(1)
2
(3)
@

(A)-(D, B)-AD. (C)-(I1D), D)-AV)
(A)-IV), (B)-ID. (C)-A1D), (D)-M
(A)-(), (B)-AIL), (C)-aD. (D)-AV)
(A)-IV), B)-D). (C)-(II). (D)-(III)

@ e &g
(D fi = weA (Women’s rule)
(Il fa=i = ofa o7 3k Tergean

(IV) f&i @ 7= (Government by Women)

[Question ID = 4557][Question Description = Q76_WS_SHAAN_NOV21]
. 1 [Option ID = 176%1]
. 2 [Option ID = 17692]
. 3 [Option ID = 17693]
. 4 [Option ID = 17694]

1
2
3
4

77)

Ja fafaua % o Ry, shifos % @ =g @ v Frefotga afen Ffea st B FAEER

Arrange 1n sequence the women centred movement for the protection of environment,

livelihoods for biodiversity :

A)
(B)
©)
D)

Navadanya
Chipko movement
Narmadha Bachan Andolan

Appiko movement

Choose the correct answer from the options given below :

1
2)
3
@

B). (C). D). )
(C), D). Q). B)
B). (D). (Y, (C)

(A). (B). D). (C)

A)  FagE

®) o

(C) T snaAl STEreH
®) T SR

prepp
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f= fau u F=em 8§ O gd T % =9 i
(1) (B), (C). (D). (A)
2y (©), D). A). B
(3) @B, D), (A), ©)
(4) (A). B), (D). (C)

[Question ID = 4558][Question Description = Q77_WS_SHAAN_NOV21]
. 1 [Option ID = 17695]
2 [Option ID = 17696]
3 [Option ID = 17697]
. 4 [Option ID = 17698]

P

78) Arrange the following in the order of sequence, under NABARD SHG Schemes of Support

(A) Micro Enterprise Development Programme
(B) Livelihood enterprise development programme
(C)  Village level programmes

(D)  NABARD financial Services

Choose the correct answer from the options given below :

1 ®. @A), D), O
@2 O.W.0.6
3  A.©0.®). D
@ (©).D. A, B

trafafaa =1 e (WABARD) 9 Weal T THIA A9 % SFRiq HHTAR =AM =it

(A) g =T T wriw
®) i sem foawm wemn
(C) 7 & HHAHA

D) Awne (NABARD) s Hard

= fau 7o feeni § O 9@ I % = i

1y B @A) D), ©)
@ O &. ). B
3y @A), ). (B). D)
@ (O D). A). B

[Question ID = 4559][Question Description = Q78_WS_SHAAN_NOV21]
. 1 [Option ID = 17699]
2 [Option ID = 17700]
3 [Opticn ID = 17701]
. 4 [Option ID = 17702]

oW =
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79)  Arrange the following books in the order in which they were published

(A)  The origin of family, private property, and the state
(B)  The second sex
(C)  The feminine mistique

(D)  the Dialectics of sex

Choose the ¢orrect answer from the options given below :

@ @A), ®B), ), D)
@ B, ©), D). A
3 ©. D). @A), B
@ D). @& B, ©C)

freferitaa e 1 ST T % FIeThATTHR Saedd Hirre, —

(A) ufEn, P gufa ot o= 6 safy
(B) T HHs TFH
(C) T wmka ids

D) 3 SEETE STF ¥

= fou U foemedt 0§ Tl SO 9 95 i

1 A®.C) O
2 B.0.0)A
@ (©).D).A), B
4 D). A.E),©)

[Question ID = 4560][Question Description = Q79_WS_SHAAN_NOV21]
1. 1 [Option ID = 17703]
2. 2 [Option ID = 17704]
3. 3 [Option ID = 17705]
4. 4 [Option ID = 17706)

80) Sequence the establishiment of the following mstitutions/commissions :

(A) Central Social Welfare Board
(B) National Institute for Public Co-Operation and Child Developement
(C) National Commission for women

(D) Human Rights Commission

Choose the correct answer from the options given below :

(D A B, D)
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(£)
(3)
4)

(B), (C). (1), (A)
(©), (D), (4), (B)
D). (A), (B), (C)

Frfeafiaa Teaml [ s 6 O % PAHER STafer Hife, -

(A)

®B)

(&)

D)

-, Fa =,
FErd AT FHoAT §s

TgrE afeen smEm

HHEATERT SR

4 3 e faebel § @ W& I v il

@
(2)
(3)
@

@&). (B), (C), D)
(B), (C), (D), (A)
(C). (D), (&), (B)
D). (&), B). (©)

[Question ID = 4561][Question Description = QB0_WS_SHAAN_NOV21]

oWk B

81)

1 [Option ID = 17707]
. 2 [Option ID = 17708]
. 3 [Option ID = 17709]
4 [Option ID = 17710]

Arrange the different stages of women’s empowerment in descending order

&)
(B)
©)
(b))
(E)

consciousness raising and identification of conditions leading to powerlessness
powerlessness

leadership bualding and support from social network

personal freedom and access to and control over resources

ability to make decision

Choose the correct answer from the options given below :

)
@
6
4

®), (A), (), ), (O)
@), ®). (0), ), (B
®), (0. D), Q). ®
®), (B), (4), (O), (D)

nfzar gl % f&GiE 9o #i 3EE 9 1 9

(A)
(B)
(©)

(D)

AFTEHAl ST 31T Tpaial 3099 B aTel forfadl # UeaH %

Irih BIAT
gea Pt g e e ¥ g

Fafns T IR WATEAl 99 g 3R 37 R e

prepp
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(E)

o o= S T

I feu 7o ool © O 9E 39 % 999 hifag

8y
2
(3)
4

[Question ID = 4562][Question Description = Q81_WS_SHAAN_NOV21]
. 1 [Option ID = 17711]
2 [Option ID = 17712]
3 [Optien ID = 17713]
. 4 [Option ID = 17714]

oW =

®). ). (E), D). (C)
A). (B). (C), (D). (E)
B). (C). (D), (A4). (E)
(B). (E). W), (O). D)

82) Arrange the following in the order of sequence

A)
(B)
(©)
D)
(E)

Choose the correct answer from the options given below :

D
@
(3)
(4

Protection of Children from Sexual Offences Act
Dowry Prohibifion Act

Protection of Women from Domestic Violence Act
Hindu Marriage Act

Dissolution of Mushm Marriages Act

(A), (C). (D), (E), (B)
(E). (D). (B), (C). (&)
B). (E), (D), (A). (C)
D). (B). (E), (C). (A)

i LS i ﬁﬁ &) =3 [ ey ﬁﬁ :

(A)

(B)

()

D)

(E)

A sraret U s B gL At
aite] T & afeemstt i guan sifufem

gieem o e sifatem

= fon o fowed § ¥ T9 SR % 999 e

@
@
3
(4)

[Question ID = 4563][Question Description = Q82_WS_SHAAN_NOV21]

(A). (C). (D). (E), (B)
(E). D). (B). (©). W)
(B). (E). (D), (4, (C)
D). B). (E). (C). (W)

| 1. 1 [Option ID = 17715]

prepp
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| 2. 2 [Option ID = 17716]
3. 3 [Option ID = 17717
4. 4 [Option ID = 17718]

83) Arrange the following steps 1n correct sequence for structing the research in social sciences

(A)  Pilot study
(B)  Selection of Research Technique
(C)  Defining Research Problem

(D) Review of literature

Choose the correct answer from the options given below :

L A, ®B). (C) and (D)
2 B). (A). (D) and (C)
3 (C), (D), (B) and (A)
@ D), (0) (A) and (B)

TR fars(3T) W Wiy 6 wte = forg Pt = = SR UE % % ST Sadd it -

(A)  TETE AT
B) WG qHHI% B T
(C) g o =1 Feam

D) =kt f wien

Fre fom e Repew 9 @ @@ IR % == AR
1 (A, ®). ©) AR D)
@  ®) (A), (D) IR ©)
@ (€. D). B @A)

@ D) (0. Q) AR (B)

[Question ID = 4564][Question Description = Q83_WS_SHAAN_NOV21]
1. 1 [Option ID = 17719]
2. 2 [Option ID = 17720]
3. 3 [Option ID = 17721]
4. 4 [Option ID = 17722]

84) Arrange the following 1n sequence :

(A) Committee on the Empowerment of women
(B)  National Perspective plan for women
(C) All India Women's conference

(D) The Women's Indian Association

Choose the correct answer from the options given below :
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1 @A) B, ). D)
2 B, ), D), A
3  (©). D, B, A)
@ ©O.0O.®B).&

Freaferfaa =t ATER STt Fifm -

(A)  wfEeneT % ok el afd

®) wfeenett # fou wdm ufdier Ao

(C) s v wfEen T Hem

D) 3 o s wRifem

== feu g fampeal & | @t T = == Fifsw
O A).B).C) D

@  B).©O). D) A

3 (C). D) B), A)

@ D). (), B A)

[Question ID = 4565][Question Description = Q84_WS_SHAAN_NOV21]
1. 1 [Option ID = 17723]
2. 2 [Option ID = 17724]
3. 3 [Option ID = 17725]
4. 4 [Option ID = 17726]

83)

Given below are two statements :

Statement I : Women's participation and engagement in pohtics still has its challenges

and obstacles.

Statement II:  Active participation of women in pohitics is determined by the political

culture, social freedom and gender equations in society

In the light of the above statements, choose the correct answer from the option given below :

(1) Both Statement I and Statement II are true
(2) Both Btatement I and Statement Il are false
(3) Statement I is true but Statement I is false

(4) Statement I 1s false but Statement II 1s true

e 2t = faw T 2

e I: weHta o atgenst = ariiedl ot ek ggE o onft off sEifal siic seme 2)

prepp
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oA IL:  Treeiia o wigensl =i wpliqi! aar | UoHifas SEpla g Taaaan 3 set g &
g Fraifea 2 &1

YU HUF F A |, = R e faepedt 0 9 @i Iut = = i

(1) %9 1ok I 3T we &

(2)  wuE I ¥R ISl o1Eed 3

(3) w97 1TcT 2, o %o 11 oo 2
(4)  FYF 1378 2, o 59F 15 2

[Question ID = 4566][Question Description = Q85_WS_SHAAN_NOV21]
1. 1 [Option ID = 17727]
2. 2 [Option ID = 17728]
3, 3 [Option ID = 17729]
4. 4 [Option ID = 17730]

86)  Given below are two statements :

Statement I : There is an increasing recognition that development is gender-neutral.

Statement IT : Gender relations are an aspect of broader social relations and like all social

relations are constituted through rules, norms and practices

In the hght of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II 1s correct

2 =1 vy T e g
FoF [: = 99 # SIOeRngE ST e @ & e faem Siew e 2

Fol IT:  Sist Ted =99 HTHI dedl #1 UF o7 2 ok o amites wadl it o a9, a5

3R IRl % g wEisd 2 )
IWIT H2A F I °, T U e fawen 0 ¥ g6g 3uas I 9 9 Hi
(1) w9 I3k II5A o8 3
(2)  wu I3 1D o 2

(3)  wug [49F 3, AR w1 7rerd 2

(4)  ®uF [79d 2, it weF I He1 2
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[Question ID = 4567][Question Description = Q86_WS_SHAAN_NOV21]
1. 1 [Option ID = 17731]
2. 2 [Option ID = 17732]
3, 3 [Option ID = 17733]
4, 4 [Option ID = 17734]

87)

Given below are two statements :

Statement I : Gender bias 1s a part of soctal system which has roots in the family and the

process of soclalization

Statement II: A female child imbibes values which largely stand in the way of her

In

development and empowerment

the lhight of the above statements, choose the most appropriate answer from the options

given below :

ey
@
)
@

Both Statement I and Statement Il are correct
Both Statement I and Statement IT are incorrect
Statement I 1s correct but Statement Il i1s incorrect

Statement I 1s incorrect but Statement IT 1s correct

F= @ FuF faw o 2.

EX L

TS YUE WIS AR W 3 2 e 78 gfEn o wEmiE i gt 1 2

woA I1: U oiforn 19 39 953 1 Te0 Fdl & 51 Afawm 3uF o TR wemhie =i T8 A s

T &

SUh YA % ST H, A O T el 8 d T SWEE ST W 99 it

(1)
(2
3

(4)

Fo I ik I12F7 o 3
Fu7 I & I1 21 7o 3

F L T2 2, ofrT =ya I 7ea 2

%9 1 7Tem 2, dte =u [T 2

[Question ID = 4568][Question Description = Q87_WS_SHAAN_NOV21]

-

88)

. 1 [Option ID = 17735]
2 [Option ID = 17736]
3 [Optien ID = 17737]
4 [Option ID = 17738]

Given below are two statements : One 1s labelled as Assertion A and the other is labelled as

Reason R :
Assertion (A):  Women and Girls are the worse sufferer of Gender based violence
Reason (R) : Gender based violence arise out of unequal distribution of power and

resources under patriarchy.

In the light of the above statements, choose the correct answer from the options given below :
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(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(3) (A) 1s true but (R) is false

(4) (A) 15 false but (R) 1s true

= 2 Ty oo e B

w 1:  wieemd o7 sTireTd Siex st T it watfoss wifgans axf 2

woF I1:  Siet omentia femn i & or=aia WiRe TR TEneml # 319 foamer § 3o 2l 2

I9UE HI T IEE A, T B T faredt 7 g a9t SR o w AR

1)

2

3

(4)

o 1 ofit T 21 od 8
oA 1 3 11 21 Toid 2
Foq 1w 2, @ifr oA I e 2

F9 1 7Tod &, S e [L v 2

[Question ID = 4569][Question Description = Q88_WS_SHAAN_NOV21]
1. 1 [Optien ID = 17739]
2. 2 [Optien ID = 17740]
3. 3 [Optien ID = 17741]
4. 4 [Option ID = 17742]

89)

Given below are two statements : one i1s labelled as Assertion A and the other is labelled as

Reason R :

Assertion (A):  Micro-Finance proved effective means for economic empowerment of

economically backward women.

Reason (R) : Economically backward women are mostly demed access to formal credit for

the lack of access to resources

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) 1s correct but (R) 1s not correct

(4) (A) 1s not correct but (R) 1s correct

A L:  gam fam ot wu O s afearen & s geebieor o1 et arem g gan 21

woA I1:  onfhs wu o fisdl afgemd aaeml o5 sl 759 % sae o siferga: shenfes o1 99 @

prepp
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aferd w3 St B

IR U & o o, A9 v e freed 4 @ wf s w5 At

(1)
(2)
(3

4

o I 3 11 21 w1
97 I 31 IL 2A1 TTed 2
Fue 1 T8t 2, o 99 117 2

9 I 790 2, wifes o 1L et 2

[Question ID = 4570][Question Description = Q89_WS_SHAAN_NOV21]

1. 1 [Option ID = 17743]
2. 2 [Option ID = 17744]
3. 3 [Option ID = 17745]
4, 4 [Option ID = 17746]
90) . . . .
Given below are two statements : one 1s labelled as Assertion A and the other 1s labelled as
Reason R :
Assertion (A):  The National Rural Health Mission has been successful in improving health
condition of the poor families in the village.
Reason (R) : The Accredited social Health Activist are playing important role in
providing health care services to the ready families.
In the light of the above statements. choose the most appropriate answer from the optfions
given below :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 15 not the correct explanation of (A)
(3) (A) 1s true but (R) 1s false
(4) (A) is false but (R) is true
F=1 21 % faw e g
wE [ o awor e fiem e % e TiERt % e i a7 gun d owe @ 2
weA Il:  TaT W WIS TR el SERane IREaRl TR A Iuesd U U HeEegol

sfir fon @ 3

IR HYT F T H, A 9w T e 9 O 96 ST W 99 S

(1)
(2)
(3)

4

Fo7 I o IL 241 =8 2

o 1 ofit I1 51 o 2

Fe 1 =3 2, ot w9F 117 2

F99 I 7 2, wfeet wu= 11 4el 2

[Question ID = 4571][Question Description = Q90_WS_SHAAN_NOV21]
| 1. 1 [Option ID = 17747]
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| e

Option 1D = 17748]

3. 3 [Option ID = 17749]
4. 4 [Option ID = 17750]
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Topic:- 74WS_B

1)

Read the passage given below and answer the questions number :

According to International Labour Organmisation (I1.O), unemployment remains unacceptably
high especially among women. Two billion of world's emploved population. representing 61.2%
of global employment, work in the informal sector. Informal work refers to work carried out in
the absence of labour regulation and with little or no social protection coverage, presenting a
major challenge for sustainable development. Within the broad category of informal work,
women tend to occupy the more disadvantaged positions and are more likely than men to
work in more vulnerable settings including as contributing family workers and home based
workers. Further more, most people take up mmformal work not by choice but as a result of
lack of opportunities in the formal economy. One of the main gain of the past two decades has
been in the increasing access to education, with positive implications for women and girls life
chances. In developing countmes. secondary education attendance 1s correlated with declines
In early marriage and adolescent child bearing. More work remains to be done interms of
closing substantial gaps among different groups of girls and reaching girls in rural areas.
those belonging to minority ethnic groups and those in the poorest households

In addition. the narrowing gender gaps in education have not been matched by sunilar
improvements in labour market outcomes and effective access for women to economic
opportunities which may enhance their well-being and amplify then voices within and beyond
their families from economic deprivation.

Which of the following areas ILO advocates, to be focussed upon for closing the gaps in
achivements for women and girls

(1
@
3
@

to motivate women to take up economic opportunities
to provide access to higher education
to close the gaps in achivements of minority ethnic groups and rural poor households

to close the gaps in achieving the needs of adolescent girls

HTRISE 3 T3 STTAR Aiaenat 3R o=l = 70 Iusisami ¥ oFR &l wied = fore ftafea o &
8 &7 | oI Ffga T $I SETAHar 27

(1)
2
3
@

AlEeneT i T SR B A = % o R e
= e % vEE Wg
HPTHEAF T Tyl oTR e afior et i swafert 9 o = men

[Question ID = 4577][Question Description = Q91_WS_SHAAN_NOV21]

B R L

2)

. 1 [Option ID = 17771]
2 [Option ID = 17772]
3 [Option ID = 17773]
4 [Option 1D = 17774]

Read the passage given below and answer the questions number :

According to International Labour Orgamisation (ILO), unemplovment remains unacceptably
high especially among women. Two billion of world’s emploved population. representing 61.2%
of global employment. work in the informal sector. Informal work refers to work carried out in
the absence of labour regulation and with little or no social protection coverage, presenting a
major challenge for sustainable development. Within the broad category of informal work,
women tend o occupy the more disadvantaged positions and are more likely than men to
work in more vulnerable settings including as contributing family workers and home based
workers. Further more, most people take up informal work not by choice but as a result of
lack of opportunities 1n the formal economy. One of the main gain of the past two decades has

B i - e Dm0 vl e
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chances. In developing countries. secondary education attendance is correlated with declines
In early marriage and adolescent child bearing. More work remains to be done interms of
closing substanfial gaps among different groups of girls and reaching girls in rural areas.
those belonging to minority ethnic groups and those 1n the poorest households

In addition. the narrowing gender gaps in education have not been matched by similar
improvements in labour market outcomes and effective access for women to economic
opportunities which may enhance their well-being and amphfy their voices within and beyond
their families from economic deprivation.

Which of the following can be attributed as the consegquences of expansion of secondary
education for girls in developing countries

(A)  Decline in early marriage among girls
(B) Reduction in adolescent child bearing
(C) Improved access to health care facilities

(D) More women into skill development

Choose the correct answer from the options given below :

4y
3

(A) and (C) only (2) (A) and (B) only
{C) and (D) only (40 (D)and (B) only

Freferfiaa # © fra—fra viom =1 o i o A menfis e s e w R s owar 27
A)  sreary sl & fere § foes

(B)  THwi anfermst 0 gamiears 1 =

(C) TR vitaE! giaensti 7% Tga § uR

D) ive e | st afgeng

Stz fou frewl d @ g9 s W 9= it
(1) Faa Q) IR0 (2) Faa (A) 3R (B)
(3  FaE (C) IR (D) (9 Faa (D) ¥k (B)

[Question ID = 4578][Question Description = Q92_WS_SHAAN_NOV21]
1. 1 [Option ID = 17775]
2. 2 [Option ID = 17776]
3. 3 [Option ID = 17777]
4. 4 [Option ID = 17778]

3)

Read the passage given below and answer the questions number :

According to International Labour Orgamisation (I1.O), unemployment remains unacceptably
high especially among women. Two billion of world's emploved population. representing 61.2%
of global employment. work in the informal sector. Informal work refers to work carried out in
the absence of labour regulation and with httle or no social protection coverage, presenting a
major challenge for sustainable development. Within the broad category of informal work,
women tend to occupy the more disadvantaged positions and are more likely than men to
work in more vulnerable settings including as contributing family workers and home based
workers. Further more. most people take up informal work not by choice but as a result of
lack of opportunities in the formal economy. One of the main gain of the past two decades has
been 1n the increasing access to education, with positive implications for women and girls life
chances, In developing countries, secondary education attendance 1s correlated with declines
In early marriage and adolescent child bearing. More work remains to be done interms of
closing substantial gaps among different groups of girls and reaching girls in rural areas.
those belonging to minority ethnic groups and those in the poorest households

In addition, the narrowing gender gaps in education have not been matched by sunilar
improvements in labour market outcomes and effective access for women to economic
opportunities which may enhance their well-being and amplify thenr voices within and beyond
their families from economic deprivation.
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Given below are two statements :

Statement I : Most women takes up informal work not by choice but as a result of the lack

of opportunities in the formal economy.

Statement IT : Women benefit from the earnings of the other members of the family and

the intra household transfer has been quite favourable to women.

In the hght of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement I are correct

{2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement II is incorrect

4 Statement I is incorrect but Statement II 1s correct

4= 2 wya fu 7o B

w1 v afgen sEivefes w wes 8 7 aw sttrenfes sidemaren o sEe f ol &

FROT =HR Tl 3

T 11 : R 9HER & 37 T i STHeH § oai-ad wrdl & o giary % e o Afgenst &

yfa Wi &9 ¥ 3R w2

IYUE FUA R ATArs |, A 3T v feReal A O weh IPRE 3T 1 =P R

ey
2
(3)

@

FoF I 2 I12AT a2 3
e I 3tk I [0 7eid 8
FoA I w2 2, e =ua I 7o 2

F99 L Td 8, A w9 I1Oer 2

[Question ID = 4579][Question Description = Q93_WS_SHAAN_NOV21]

1.1]
2

Option ID = 17779]
Option 1D = 17780]

3. 3 [Option ID = 17781]

4, 4]

4)

Option 1D = 17782]

Read the passage given below and answer the questions number :

According to International Labour Orgamisation (ILO), unemployment remains unacceptably
high especially among women. Two billion of world’s emploved population. representing 61.2%
of global employment. work in the informal sector. Informal work refers to work carried out in
the absence of labour regulation and with little or no social protection coverage, presenting a
major challenge for sustainable development. Within the broad category of informal work,
women tend fo occupy the more disadvantaged positions and are more likely than men to
work in more vulnerable settings including as contributing family workers and home based
workers. Further more, most people take up informal work not by cholce but as a result of
lack of opportunities 1n the formal economy. One of the main gain of the past two decades has
been in the increasing access to education. with positive implications for women and girls life
chances. In developing countries. secondary education attendance is correlated with declines
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1I1 early IIaItTidge alia aQolescelt CliA Dearliig, viore WOk Tellldllls 10 DE QOlie 1ITerHls OI
closing substantial gaps among different groups of girls and reaching girls 1n rural areas.
those belonging to minority ethnic groups and those in the poorest households

In addition, the narrowing gender gaps in education have not been matched by similar
improvements in labour market outcomes and effective access for women to economic
opportunities which may enhance their well-being and amplify then voices within and beyond
their families from economic deprivation.

According to International Labour Orgamsation (ILQ), which of the following is true,

regard to current concern on women's employment

(1) Increase in employment among women
(2) High unemployment
(3) Declining female education
(4) No safety net for women workers
AL 0 TS (373 T 37) % ATAR FlEenadl % Yo Tad aoam Taaet 8 ° fefafaa § 9+
TE 3
(1)  afeenet % = TP ° Fig (2) F= ST
(8 =i fen 4 fimEe (4) afEen =i = o gren s w1 e

[Question ID = 4580][Question Description = Q%94_WS_SHAAN_NOV21]
1. 1 [Optien ID = 17783]
2. 2 [Optien ID = 17784]
3. 3 [Optien ID = 17785]
4. 4 [Option ID = 17786]

3)

Read the passage given below and answer the questions number :

According to International Labour Orgamisation (I1.O), unemployment remains unacceptably
high especially among women. Two billion of world's emploved population. representing 61.2%
of global employment. work in the informal sector. Informal work refers to work carried out in
the absence of labour regulation and with httle or no social protection coverage, presenting a
major challenge for sustainable development. Within the broad category of informal work,
women tend to occupy the more disadvantaged positions and are more likely than men to
work in more vulnerable settings including as contributing family workers and home based
workers. Further more. most people take up mmformal work not by choice but as a result of
lack of opportunities in the formal economy. One of the main gain of the past two decades has
been in the increasing access to education, with positive implications for women and girls life
chances, In developing countries, secondary education attendance 1s correlated with declines
In early marriage and adolescent child bearing. More work remains to be done interms of
closing substantial gaps among different groups of girls and reaching girls in rural areas.
those belonging to minority ethnic groups and those in the poorest households

In addition, the narrowing gender gaps in education have not been matched by sunilar
improvements in labour market outcomes and effective access for women to economic
opportunities which may enhance their well-being and amplify thenr voices within and beyond
their families from economic deprivation.

Given below are two statements : One 1s labelled as Assertion A and the other 1s labelled as
Reason R :

Assertion (A): Women are engaged Increasingly in informal sector are in disadvantages

position without social security and work in vulnerable work settings
compared to men.

Reason (R) : Women and their work are hardly covered under labour regulations and

social security policies

In the light of the above statements, choose the correct answer from the options given below :

(1)
(9N

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
Bnth A and (B) ara true and (R) 12 not the enrrent axnlanatian af (1 A)
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3
(4
fi=

(A) 1s true but (R) 1s false
(A) 1s false but (R) is true

a1 oA AU T 3 W ST (Assertion A) F Y W ARG 2 A g 3WH wAW (Reason R)

wY Y

HFHRT (A) - ATEATE SFITETEh &3 0 Afbeptas S 3 8T SR WIS Gietl o ST

et 9 2 i geut 1 gorr 0 W T F FGUSA gerg J B 3

I (R) : Aigens W STk He wt g fafEm st amtes guen it w e givea 3 6

e 21

YT YA = SR |, A G0 T feehedi 1 F TEl I F =5 i

(1)
(2)
(3)
(4

(A) 3R (R) 2F1 7ea 2 iR (R), (A) Fi 98 =men 2

(A) 3R (R) 5H1 ¥4 2, 93 (R), (A) Ft 21 =awen T2 2
(A) T 2, @it (R) B T 2

(A) T T2 2, ©ifFT (R) 99 2

[Question ID = 4581][Question Description = Q95_WS_SHAAN_NOV21]
1. 1 [Option ID = 17787]
2. 2 [Option ID = 17788]
3. 3 [Option ID = 17789]
4. 4 [Option ID = 17730]

Topic:- 74WS_C
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1)

Read the passage and answer

Dalit Women’s subjugation is materially embedded. that is Dalit women are thrice
subjugated : as women, as dalit woman and as dalit women who perform stigmatised labour.

Caste 1nequality and exploitation is most visible. they argue in dalit and lower caste women’s
profoundly unequal access to resources of basic survival such as water and sanitation
facilities, as well as the educational institutions, public places and sites of religious worship.

Dalit women have been targets of upper caste viclence at the same time, dalit women have
also functioned as the property of dalit men. The status of dahit women as sexual property of
their community, and of the community of men at large has made sexual vulnerability an
important site of intervention.

Violence In 1ts spectacular as well as everyday manifestation has come to represent the
mhumanity of the caste order. In turn dalit activists have been especially vocal in demanding
the act of violation be recognized as an abuse of human rights. The UN world conference
against racism, racial discrimination, xenophobia and related intolerance in Durban, South

Africa from 31 August to 7 September 2001 reflected the significance of mass mediated
publicity and a globally available discourse of historic hurt and suffering in internationalizing
the problems of untouchability. While the Government of India argued that focussing on caste
discrimination diluted the aims of the conference, dalit representatives such as those
belonging to NFDW 1insisted that caste discrimination approximates the practices of racism.

FreAfafiaa o % U 3R 36 A9 Ry T uvEi % IW |

afera afeemant i wwdman sitfeer =9 @ afafee R-3fom afsend fogdl g it e € - #ften % dw,
gfera ufger & dit 92 3t o Ul fod afgen % it wt S weithg e el B wrfa-T smed) s g
el Siere e Far B I W8 Fem 2 6 urlt o wresar gedl St gt gliienet i e
TEYFI, AR T 3R a7 MARYe 7% afem it Fm= s =61 Afgenstt =i steafers s/ame 75
e T SR ST oI e St R A 2

gfra Tfgens 2= snfa & femn i foeer 31 w1y &1, =fea afgend gfem gesi 6 gufy < wa 0 o gt s
31 o unE % fau o = 9 W g % wgem % fou g afgenst i fufy it wufy = = A
2 S =N w0 8 3 v s 2 7R waeEe! geaed B A e 2

fom, oI =aw T & WY e 9 oAt § Sfa-saaen i ommaEd w aieisd W Bl SHE
foriia afea FrFRal 39 AT F &R &9 U 331 2 5 51 % 39 oA i AHEGNTHR H FH g 9| 3w
STHIT, St A 31 3 & 7 fadaet 2001 T 9YT Teeeng, el Yo, fadeft guar ofit wetta srafEe
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T TS B UZEE o SUUT @EE 0 STl B S $ SaUPE e 0 WAeEiEh S R
digr % qua 4 o2 Y9m % =R s A fem-famst f gz weitie g 21w #i, uwE s 1 o
fem o STferre Sgvma W Higa @ goed % Svd Tk g 2, TUE.E. e, W Fe § 92 g
wfafReEt 3 3w e W A o e odim Sewe awdim wna % uuwa B

Why have daht feminist demanded a changed politics of feminism?

(1)

(2)
(3)

(4

because they believe caste 1s an archaic system and not a dvnamic aspect of modern
economies

because they want to mamtain a focus on patriarchy rather than on caste oppression

because they want to root dalit women’'s oppression in the domain of economy only
rather than on i1dentity politics

because they want to locate gendered power relations and women's oppression within
the structure of caste and class domination. inequality and social strafication

<o At 3 e ¥ o afafta it B s = A

(D
@
(3

C))

iR 371 farzara 3 15 Sfd U G0 =5aeen 2 7 76 ongfr sefTeawen 1 wiasiier 95e],

iR i Sedied i e 3 g W oI Higa e 9ad 3

T [ AfEr smaria TsHita 6 eme gfeta ofital % IciisT Bl 9 JIMeTaE % & ° & Anadl
2l

TR o ST ST with FEdi- 3 AfEe Scdie ®i a3 @ T=wd, Raged K g
TR ! e § sTafeda e arsdt Bl

[Question ID = 4572][Question Description = Q96_WS5S_SHAAN_NOV21]
. 1 [Option ID = 17751]
. 2 [Option ID = 17752]
. 3 [Option ID = 17753]
. 4 [Option ID = 17754)

1
2
3
4

Z)

Read the passage and answer

Dalit Women’'s subjugation is materially embedded, that is Dalit women are thrice
subjugated : as women, as dalit woman and as dalit women who perform stigmatised labour.

Caste 1nequality and exploitation i1s most visible. they argue in dalit and lower caste women’s
profoundly unequal access to resources of basic survival such as water and sanitation
facilities, as well as the educational institutions, public places and sites of religious worship.

Dalit women have been targets of upper caste viclence at the same time, dalit women have
also functioned as the property of dalit men. The status of dalit women as sexual property of
their community, and of the community of men at large has made sexual vulnerability an
important site of intervention.

Violence in 1ts spectacular as well as everyday manifestation has come to represent the
mhumanity of the caste order. In turn dalit activists have been especially vocal in demanding
the act of violation be recognized as an abuse of human rights. The UN world conference
against racism, racial discrimination, xenophobia and related intolerance in Durban, South

Africa from 31 August to 7 September 2001 reflected the significance of mass mediated
publicity and a globally available discourse of historic hurt and suffering in internationalizing
the problems of untouchability. While the Government of India argued that focussing on caste
discrimination diluted the aims of the conference, dalit representatives such as those
belonging to NFDW 1insisted that caste discrimination approximates the practices of racism.

Freatafiga woim =t w@ it sue 49 2w 10 uvAl % I d |

afera afgarst i g sitfas =9 9 wfafeg -2foa afkend fagdt goar i fiem 8 - wfgen & dit w,
Ffera ufeen & AR 9 3ii o vl gfer afeen % dit WS wweifee wE w3 -t sl s i
e e fSEn 3@ 21 IR W8 wem 2 1% vl otk wmesa gadt stae i gfed gRensd o S
TEYFI, AEARR T 3R T MARYe 7% 3fem it fm= s =h Afgenstt i s1eafers s/awe 75
T T SR ST SR e St R A 2

afore afied e iy 1 e ) feer 31wy A, 2 afend e et R waf % w o Y

21 o1 wEE % fau o = 9 W gen % wgmE % fou g afeenet i fafa it wufy % = d
2 S A T W 3= Eida s 2 37 Waeagl sEaeg i AT e 2|
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o, oI =9 ©0 % WY U9 I oheat B SA-SuaeT # SWEEEAl W TRt W Bl 39
Tl afca FeFRal 39 T F &R %9 U 331 2 5 7 % 39 A i AHGTHR H 5 9 S| 3im
STHT, S 1 31 3T § 7 faae 2001 7 999 TeodnE, T Yewrd, fadeft guar oft wefta srafre
W AT B TgEY % wAUYE Ao 8 SIegyEal i WHEN % A-aUse wie 8 ufdeiies s i
digr % ey 4 g GuE % wer o AfTas fem-famel i gz weiie 5 21 wb Sk, 9 qeen 3 18 o
foom £ ifomra stewmar W Hfgm 0 @ TS % 2w T 0 E, WORE. 3w, 99 e ° 98 2
wfafttE 3 =g 9 | AR o 6 S Senm Twlim g % auws Bl

Where does the dalit women’s vulnerability lie most?

0y
(3

patriarchal system (2) multiple and overlapping patriarchies

material disposession. (4) lack of education

Ffora afgene 1 srgren yaiiers el g 27

(1
3

firgaraTers smaearst 4 (2) wga IR gEwREny figume §
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[Question ID = 4573][Question Description = Q97_WS_SHAAN_NOV21]
1. 1 [Optien ID = 17755]
2. 2 [Optien ID = 17756]
3. 3 [Optien ID = 17757]
4. 4 [Option ID = 17758]

3)

Read the passage and answer

Dalit Women’'s subjugation is materially embedded. that is Dalit women are thrice
subjugated : as women, as dalit woman and as dalit women who perform stigmatised labour.

Caste 1nequality and exploitation i1s mosi visible, they argue in dalit and lower caste women’s
profoundly unequal access to resources of basic survival such as water and samtation
facilities, as well as the educational institutions, public places and sites of religious worship.

Dalit women have been targets of upper caste viclence at the same time, dalit women have
also functioned as the property of dalit men. The status of dalit women as sexual property of
their community, and of the community of men at large has made sexual vulnerability an
important site of intervention.

Violence in 1ts spectacular as well as everyday manifestation has come to represent the
mhumanity of the caste order. In turn dalit activists have been especially vocal in demanding
the act of violation be recognized as an abuse of human rights. The UN world conference
against racism, racial discrimination, xenophobia and related intolerance in Durban, South

Africa from 31 August to 7 September 2001 reflected the significance of mass mediated
publicity and a globally available discourse of historic hurt and suffering in internationalizing
the problems of untouchability. While the Government of India argued that focussing on caste
discrimination diluted the aims of the conference, dalit representatives such as those
belonging to NFDW 1insisted that caste discrimination approximates the practices of racism.

FreAfafiaa Tam % U 3R 36 A9 R T uvEi % IWF |

gfora afgemen F s difos w9 9 afafee R-cfoa wiEend fasdt g it e € - wfeen & 9k m,
Ffera ufgen & di o 3ii o vl gfr afeen % At W S weifee @ e B -t sl i s
el ifere e Far 31 I g e 2 6 urlt ok wresar ged S gt glienen i e
TEYFI, AEARR T 3R o7 MEARYe 7% afem 3t f= s = afgenstt i steafers s/ame w5
% AT § AR ST SR T S TS A 2

gfra nfgend 2= snfa & femn i foeer 31 w1y &1, 2o afgend gfem gesi 6 gufy & wa 0 off gt s
31 o1 unE % fau o = 9 W gEn % wgem % fou g afgenett i fafy it wufy = = A
2 S = w0 8 3% i ST 2 7R waeEet geaed B A R 2
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wfaffirt = g ara 9w far 6 snd s Twdim yonet - aasa 2

Who 1s the most oppressed of the following?

(1) uneducated dalit women (2) dalit women
(3) economically backward dalit women (4) educated dalit women
fafefiga § & =i Tais seifeq 27

(1)  sifierE sfoa ataen (2) =foa afeen

(3)  ontd® wu © Uz afrma-ulken (4) Tl gfera afeen

[Question ID = 4574][Question Description = Q98_WS_SHAAN_NOV21]
1. 1 [Option ID = 17759]
2. 2 [Option ID = 17760]
3. 3 [Option ID = 17761]
4. 4 [Option ID = 17762]

4)

Read the passage and answer

Dalit Women’s subjugation is materially embedded. that is Dalit women are thrice
subjugated : as women, as dalit woman and as dalit women who perform stigmatised labour.

Caste 1nequality and exploitation is most visible, they argue in dalit and lower caste women’s
profoundly unequal access to resources of basic survival such as water and samtation
facilities, as well as the educational institutions, public places and sites of religious worship.

Dalit women have been targets of upper caste viclence at the same time, dalit women have
also functioned as the property of dalit men. The status of dalit women as sexual property of
their community, and of the community of men at large has made sexual vulnerability an
important site of intervention.

Violence in 1ts spectacular as well as everyday manifestation has come to represent the
mhumanity of the caste order. In turn dalit activists have been especially vocal in demanding
the act of violation be recognized as an abuse of human rights. The UN world conference
against racism, racial discrimination, xenophobia and related intolerance in Durban, South

Africa from 31 August to 7 September 2001 reflected the significance of mass mediated
publicity and a globally available discourse of historic hurt and suffering in internationalizing
the problems of untouchability. While the Government of India argued that focussing on caste
discrimination diluted the aims of the conference, dalit representatives such as those
belonging to NFDW 1insisted that caste discrimination approximates the practices of racism.

freAfaitad e =t 9 31 Sueh Fi= 38 1o uvEl % I d |

gfora afgemen F1 woeman difas w9 @ wfafeg R-cfoq sftend fasdt g i e € - wfeen & dR m,
Ffera fgen & 4R 9 3iit o vl gfrg afeen % dit W S wweifee wE w3 -t sl s s
el iers e Far 31 I e Fe 2 5 urlt ok wresar gt St gt gl i e
TEYFI, AR TAMT 3R a7 MARYe a% 3fem iR fm= s =6 afgenstt i steafers s/we 75
F AT T S STEEET TR 09 STl fSEms 21 2

gfra nfgend 2= snfa & femn i foeer 3| w1y 21, =fa afgend gfem gesi 6 gufy & wa 0 off et s
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dist % @Y | 92 §9H % =R 3 aftas fem-fams f new e g 21 o o, vea w3 38 o
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What does the dalit feminist critique aim at?

@

renewed focus on economic empowerment
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2)
3
(4)

equity and justice
demand for dalit supremacy

making daht women dominant

e TEE e w1 asd g 27

(1)

6))

ST TERAROT W T4: egul (2) wHal AR A=A

afera wgea 1 7 (4) afera wlzen F eI S

[Question ID = 4575][Question Description = Q99_WS_SHAAN_NOV21]
1. 1 [Option ID = 17763]
2. 2 [Option ID = 17764]
3. 3 [Option ID = 17765]
4, 4 [Option ID = 17766]

3)

Read the passage and answer

Dalit Women's subjugation is materially embedded. that is Dalit women are thrice
subjugated : as women, as dalit woman and as dalit women who perform stigmatised labour.

Caste 1nequality and exploitation is mosi visible. they argue in daht and lower caste women’s
profoundly unequal access to resources of basic survival such as water and sanitation
facilities, as well as the educational instaitutions, public places and sites of religious worship.

Dalit women have been targets of upper caste violence at the same time, dalit women have
also functioned as the property of dalit men. The status of dalit women as sexual property of
thelr community, and of the community of men at large has made sexual vulnerability an
important site of intervention.

Violence in 1its spectacular as well as everyday manifestation has come to represent the
mhumanity of the caste order. In turn dalit activists have been especially vocal in demanding
the act of violation be recogmized as an abuse of human rights. The UN world conference
agailnst racism, racial discrimination. Xenophobia and related intolerance in Durban, South
Africa from 31 August to 7 September 2001 reflected the significance of mass mediated
publicity and a globally available discourse of historic hurt and suffering in internationalizing
the problems of untouchability. While the Government of India argued that focussing on caste
discrimination diluted the aims of the conference, dalit representatives such as those
belonging to NFDW insisted that caste discrimination approximates the practices of racism.

Frataiaa Tomm =i 92 o 395 9 57 0 uv % S 2 |

giora Afeemett i wUdEa Nifdw 9 ¥ Afatea 2-afem afeam fed g & fien € - afeen F 9R R,
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Fhera wfgend T= st # e i fmer 31 @y &, 3fm afeard afra gen i aafy % wv 0 off 2Ef sl
31 3T AgEE % fou o =us dR W T % WA ¥ o gfera afgenett $ fufy witer wuf = A
2 S A T I TN I 8 ST AT aaed W w2

fEon, ot =Ow =9 % WY O9Ed i Afyeafs § Sifd-oraeyt i S TR Bl 21 S5
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SETT, S § 31 PR ¥ 7 fade 2001 % "ET AedE, el dewmE, el guar ofit wefta srmfEea
T AT T UgEY  SEE SEEH § Syl $ HEeN % Aaug we § Ufaias s sl
digt & @9 | o3 9 % v=R 31t e foem-fomet 6 me wefia g¢ 21 o T, wie wn 3 97 9%
fem o STierTa SEWTa W HiGT U UoiEd 6 Sevd T 5 &, TR.UE.E. ey, o T § 92 g
ufafRet 2 sa e W wiT e fo ondi siewre el g = ey

According to the UN world conference against racisms does caste come under race agenda?

(1

caste and race are dissimilar
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(2) caste falls under race agenda

(3) caste 1s purely an internal matter of the country

(4) caste 1s a tribe

T % foed T U 99 Ioier = SFHAR 997 AIid Aeard) THel % 1= AT 8 ¢

(1)  f 3R T T e fm

()  fa TEERE) TS % A=A A 7

(3) N TZ 9§ FRET 9 F STaieh dmen 3

(@  wfa v ST 2

[Question ID = 4576][Question Description = Q100_WS_SHAAN_NOV21]
1. 1 [Option ID = 17767]
2. 2 [Optien ID = 17768]
3. 3 [Optien ID = 17769]
4. 4 [Option ID = 17770]
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Topic:- GP_Set6_A

1) The following table embodies the details about the production and profit of two items I and II
by seven different companies A-G. Cost of the total production of both ifems together by

seven companies 18 Rs. 25 crores. Based on the data in the table, answer the question

Company — wise Production and profit details

Company | Percentage (%) of Total Ratio of production between Percent (%) Profit
Production Items I and II FEarned for
Items I Items I

A 15% 2:3 26% 20%
B 11% 3:2 32% 35%
C 22% 4:1 20% 22%
D 08% 3:H 15% 25%
E 27% 5:3 28% 30%
F 05% 1:4 35% 25%
G 12% 1:8 30% 24%

f=iferel amferht 3 g st I oiit 1T 1 O S4o0T-37 S A — G GRT I09167 e 14 1 faa 2 |
A FFE R SHI SgaTl % T WY ST el S0 T 25 S 2 | diferdl § o MU strwst B

SR 9 UYT = 3eR Sifa |

TN Seured X T = s
FEH | el SedreH T lwaag I | vE =9 i gl

1 wfaeraan (%) | % HET SIEA B SHA
I | T Il

A 15% 2:38 25% 20%
B 11% 3:2 32% 35%
C 22% 4:1 20% 22%
D 08% 3:5 15% 256%
E 21% H:3 28% 50%
F 056% 1:4 25% 25%
G 12% E B 30% 24%

Cost of production of item I by company F 1s what percent (%) of the cost of production of
item II by company D?

1 16%

(3) 33.33%

(Z) 66.67%
4) 20%

HOTH T a2 mva T % =aursa & =me f afbsea =orh D 2 a1 3 3=umas & =nna o 3= o
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(1) 16% {2 66.67%
(3) 33.33% 4y 20%

[Question ID = 4899][Question Description = Q01_GP_22N0OV_52_SHAAN]
1. 1 [Option ID = 19059]
2. 2 [Option ID = 19060]
3. 3 [Option ID = 19061]
4, 4 [Option ID = 19062]

Z) The following table embodies the details ahout the production and profit of two 1items I and II
by seven different companies A-G. Cost of the total production of both items together by
seven companies is Rs. 25 crores. Based on the data in the table, answer the question

Company — wise Production and profit details

Company | Percentage (%) of Total Ratio of production between Percent (%) Profit
Production Items I and II Farned for
Items I Items 11

A 15% 2:3 25% 20%
B 11% 3:2 32% 35%
C 22% 4:1 20% 22%
D 08% 3:H 15% 25%
E 27% 5:3 28% 30%
F 05% 1:4 35% 25%
G 12% 10 2 30% 24%

=ifere amferht 8 o agatl I oiit IT 1 Oie S9o0T-37T S A — G T It9157 e w19 1 faea & |
A FFE R SFT STl % U WY ST el S0 T 25 FUS 2 | aiferdl § o MU sTrwsl B
SR 9% YY) 3R aifa |

FIHTER Soae TR o =1 s

FEH | Bl SeUTeH aeg I wd =g 11 ITH TN A S
. %) | % %3 ST

i e (%) | T T SR B ST I p—
A 15% 2@ 25% 20%
B 11% 3 2 32% 35%
C 22% 4:1 20% 22%
D 08% 9+ B 15% 25%
E 27% D: 3 28% 30%
F 05H% i:4 25% 25%
G 12% T 2 20% 24%

What is the total profit earned by company G for items I and II together?

(1)  ¥78Lakhs 2) ¥F1.62 croves
3)  T7.8 crores (49) F16.2 Lakhs

=5 1 qon =g [1 21 = ford b @i ot G % gro Baen e e fohar 27

(L) % 789w (2) % 1.62%s
(8) T T8 (4 % 16.2%03

[Question ID = 4900][Question Description = Q02_GP_22N0OV_52_SHAAN]
1. 1 [Option ID = 19063]
2. 2 [Option ID = 19064]
3. 3 [Option ID = 19065]
4. 4 [Option ID = 19066)

3) The following table embodies the details about the production and profit of two items I and II
by seven different companies A-G. Cost of the total production of both ifems together by
seven companies 18 Rs. 25 crores. Based on the data in the table, answer the question

Company — wise Production and profit details
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Company | Percentage (%) of Total Ratio of production between Percent (%) Profit
Production Items I and II Farned for
Items I Items 11

A 15% 2:3 26% 20%
B 11% 3:2 32% 35%
C 22% 4:1 20% 22%
D 08% 3:H 15% 25%
E 27% 5:3 28% 30%
F 05% 1:4 35% 25%
G 12% 1:2 30% 24%

=tifera arferst 3 41 avgatl 1 3 1T =1 O S1erT-31e SR A — G GRT 369G T 19 o (e 2 |
A FFE R SHI g % T WY ST i el S0 T 25 FUS 2 | diferdl § G MU sTrwst B
SR 9 YUY = e S |

FIOHATER Scae o o = s

T | el e T lvdaeg I | v =y #i aferaa
i afeeraan (%a) % 959 SR I

a1 T 11
A 15% 2:3 25% 20%
B 11% 3:2 32% 35%
C 22% 4:1 20% 22%
D 08% 3:5 15% 25%
E 27% 5:3 28% 30%
F 05% 1:4 36% 25%
G 12% 1:2 30% 24%

What 1s the ratio of the cost of production of item I by company A to the cost of production of
item I by company D?

L 3:5 @ 2:1
@ 3:1 @ 2:3

I A g1 a5 1 3 Scured <l arra S et D grn oy 19 3cuTed shi IFTa =61 TR AT 99 g 7

(L 38:3 @) 2.1
3 3:1 4 2:3

[Question ID = 4901][Question Description = Q03_GP_22N0OV_52_SHAAN]
1. 1 [Option ID = 19067]
2. 2 [Option ID = 19068]
3. 3 [Option ID = 15069]
4. 4 [Option ID = 15070]

4) The following table embodies the details about the production and profit of two items I and II
by seven different companies A-G. Cost of the total production of both ifems together by
seven companies is Rs. 25 crores. Based on the data in the table, answer the question

Company — wise Production and profit details

Company | Percentage (%) of Total Ratio of production between Percent (%) Profit
Production Items I and II Farned for
Items I Items II

A 15% 2:3 25% 20%
B 11% 3:2 32% 35%
C 22% 4:1 20% 22%
D 08% 3:H 15% 25%
E 27% 5:3 28% 30%
F 05% 1:4 35% 25%
G 12% 190 30% 24%

=tifera atfert 3 ) axgati I 3 1T =1 O S1erT-31e SRl A — G GRT 36915 U 19 o7 {eferr 2 |
A FFE R SFT STl b TH WY ST el S0 T 25 FUS 2| diferdl § G MU sTrwst B
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IMER |/ H¥T 9 3T 5= |

FIOHER Saaed o oy = Fas

T | P SedeH T lvdag I | v =y Fi ufaeraa
=i wfceraan (%a) F 99 IR B AT

a1 T 11
A 15% 2:3 25% 20%
B 11% ot 2 32% 35%
C 22% 4:1 20% 22%
D 08% 3:5 15% 25%
E 27% 5:3 28% 30%
F 05% 1:4 36% 25%
G 12% 1:2 30% 24%

What 1s the sum total of the profit earned by company B on production of item I and the
profit earned by company A on the production of item II7?

(1) T 9.78 Crores (2) ¥ 97.8Lakhs
(3) ¥ 52.8 Lakhs @ ¥ 30.65 Lakhs

gt B gl ot I % Scured o HHIE a1 o1 ST wEa A g avg 11 % Scuied ® AT o @l et
firert ufn 557

() 3. 9.78 =08 (2) %.97.8 @M@
(3) % 52.8wm@ (4) %. 30.65 =@

[Question ID = 4902][Question Description = Q04_GP_22N0V_S2_SHAAN]
1. 1 [Option ID = 19071]
2. 2 [Option ID = 19072]
3. 3 [Option ID = 19073]
4, 4 [Option ID = 19074]

) The following table embodies the details about the production and profit of two items I and II
by seven different companies A-G. Cost of the total production of both ifems together by
seven companies 18 Rs. 25 crores. Based on the data in the table, answer the question

Company — wise Production and profit details

Company | Percentage (%) of Total Ratio of production between Percent (%) Profit
Production Items I and II FEarned for
Items I Items I

A 15% 2:3 26% 20%
B 11% 3:2 32% 35%
C 22% 4:1 20% 22%
D 08% 3:H 15% 25%
E 27% 5:3 28% 30%
F 05% 1:4 35% 25%
G 12% 1:8 30% 24%

f=iferel amferht 3 g st I oiit 1T 1 O S4o0T-37 S A — G GRT I09167 e 14 1 faa 2 |
A FFE R SHI SgaTl % T WY ST el S0 T 25 S 2 | diferdl § o MU strwst B
SR 9 UYT = 3eR Sifa |

TR Scae T oy = e

FEH | Bl SeTeH aeg I wa =g 11 ITH T A aidEa
1 Ao (%) | T T ST B A

gl | g1
A 15% 2:3 25% 20%
B 11% 3:2 32% 85%
C 22% 4:1 20% 22%
D 08% 3:5 15% 25%
E 27% H:3 28% 30%
F 056% i:4 20% 25%

-
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What 1s the sum total of the cost of production of item I by company A and the cost of
production of item II by company B?

(1) 2.6 Crores (2) 26 Lakhs
(3) 3.35 Crores (4) 33.65 Lakhs

gt A gAT =% 1% Iearee <R @ra 3l et B grRn a%g 11 % Seared h SirTd B fiee et fhe
ufdn g% 7

(D % 2.6 W (2) . 26M@
(3) % 3.35%s (4) %. 33.65 @@

[Question ID = 4903][Question Description = Q05_GP_22NOV_S2_SHAAN]

1. 1 [Option ID = 19075]
2. 2 [Option ID = 19076]
3. 3 [Option ID = 19077]
4. 4 [Option ID = 19078]

prepp
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Topic:- GP_Seté6_B

1) In which level of teaching “Seeing of relationship’ is promoted as an objective?

)] Memory level {2) Understanding level

(3) Reflective level (4) Autonomous development level

fregor =% fopm v W “wrdl wgfiae B Sevd % U A wiAd Fen s 27
1) wd - "R Q) EEE - wW
3  fomft - o - T 4) w@Ed - i -

[Question ID = 4904][Question Description = Q06_GP_22N0OV_S2_SHAAN]

1
Z
3.
4

2)

. 1 [Option ID = 19079]
. 2 [Option ID = 19080]
3 [Option ID = 19081]
. 4 [Option ID = 19082]

Identify from the following spectrum of teaching methods which are called ‘dialogic’.

(A) Team teaching and demonstration.

(B) Tutorials and case studies

(C)  Group discussions and interactive presentation
(D)  Simulation and role plaving

(E) Computer Aided instruction and Practical tasks

Choose the correct answer from the options given below :
() (A) and (C) only (2) (B)and (D) only
(3) (B)and(C) only (4) (D) and (E) only
fow o freror it Rttt & wiwew @ ‘Foters/aa s Fed £, SRR vEEm W
()  Trerr-ge wE ToRH
(B)  sghaem T =i e
(C) umfe® =49t w@ SAFAEAT- T
(D) e T i i
(B) =Wk FiEiead 31347 T3 Sadsies s

= faw 7 fempenl f @ wEl SO w == St

(1) (A) 3 (C) (2) *aa (B) 3R (D)
(3) Faa (B) ¥R (C) (4 Faw (D) IR (B)
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[Question ID = 4905][Question Description = Q07_GP_22N0OV_52_SHAAN]

1:

1 [Option ID = 19083]

2. 2 [Option ID = 19084]
3. 3 [Option ID = 19085]
4, 4 [Option ID = 19086]
3) Match List I with List IT
Last1 List IT
Key behaviours contributing to effective Descriptive fetures
teaching
(A) Lesson clarity () Frequency with which students
understand and correctly complete
exerclses
(B) Instructional Variety (ID' The amount of time students devote in
learning in the classroom
(C) Engagement in learning process (ITI} Teacher's flexibility of the delivery
during the presentation of a lesson
(D) Student success rate (IV) Direct, audible oral delivery to all
students
Choose the correct answer from the options given below :
(1) (A)-AV), (B)-IID), (C)-(I), (D)-(T)
(2) (A)-D), (B)-AD). (C)-III), (M-AV)
(3) (A)-(II). (B)-(D). (C)-AV), (D)-(11I)
4 (A)-(I1D). (B)-(AV). (C)-(D). (D)-(I)
gei-1% oy gai-11 = e fifm
git-1 Gt
(&) B - TrE @ BE % @A H T W@ I G
STEATHI F Tl S W I B
(B) oTEw-SEe (D) =T ® BT G0 AT Tg FEEEs W T
AR 7hi OO
(C) Toram vizn 8 ol (II1) wis-wegia i sata o fHas * aoa-Tei
=1 =T
(D) BE - THAAl — TR V) o¥fi et = dian, saoim Hditgs ame-

(

g
5 5 o fameal § © U SO 1 99 i

)  A-IV). (B)-0ID). (O)-1D). (D)-(I)

2)  @-D. B-II), (O-IID. (D)-IV)
(3)  A-aD. (B)-(D), (C)-AV). (D)-(ILD)
(4)  (A)-ID. (B)-IV), (C)-D). (D)-(II)

[Question ID = 4906][Question Description = Q08_GP_22N0OV_52_SHAAN]

1.
2,
3
4,

4)

1 [Option ID = 19087]
2 [Option ID = 15088]
3 [Option ID = 15089]
4 [Option 1D = 15090]

Given below are two statements :

Statement I: Promoting classroom dialogue that encourages students to examine

alternatives is an example of direct instruction.

Statement II: Probing refers to teacher statements that encourage students to elaborate an

answery,

prepp
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ALl LLARE J_LEJ.J.'L- L LLIG AMNUYEG SUOLFCILITIL LGS, WLITMAOY LIS AU 1 OUl IO VWL LRl Ll Ut..l'l.n.l.ul.l.f:l- 51.1-' LI LFTRLT VY .

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false

(4) Statement I is false but Statement II is true

et g e feg e €

w9 (I): o ! et =0 gliam w0 & fou scafga 0 9 wEr = e 905 I B

TEM R
we (II) : JBaT® % Aaed e 1, BE F RRaR y@s 3w 4 % fo Sanfaa F aren wu 2 |

Uitk U % A H, el {3y U faseul ¥ 9 w@l 3R o == i
() = IR I3 e 2 |

() e I e 112t o B |

(3)  wuR I@ca 2, AffT =um I o18ed 2

4 FRIAET: A FRIITE 2

[Question ID = 4907][Question Description = Q09_GP_22N0OV_52_SHAAN]
1. 1 [Option ID = 190%1]
2. 2 [Option ID = 19092]
3. 3 [Option ID = 19093]
4. 4 [Option ID = 19094]

3) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A):  Innovations in evaluation system have to amply safeguard the rehability

and validity 1ssues of tools used.

Reasons (R) : The very purpose of evaluation 1s frustrated, if the evaluation tools do not

meet the requirements of reliability and validity.

In the hight of the above statements. choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
{(2) Both (A) and (R) are correct and (R) 1s NOT the correct explanation of (A)
(3) (A) 1s correct but (R) 1s not correct

{4 (A) is not correct but (R) is correct

H 31 Fom fgu 7w 2w Afwua (Assertion A) % ¥ ¥ fafiaa 2 91 390 su% R (Reason R) %

A
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SAIRTT L) . ﬂ'“ﬂl'm_;dvl[vll TSI, HE""’TRI I R S SATITIIMU O S L TTT L I T HE\
AN ® geiad e B |

FROT (R) : qege fawa B S 2, SFR gediee mieaw favaeaa T dgan i smemet
yfd =&l = £

SULITH Y % JTeIrh °, 919 4 e faepedi § 9 WSU SWRE SO 0 99 i

(1)
(2)
(3)

(4)

(&) 3R (R) I &2 § 3K (R), (A) =l el = 2 |

(&) 3R (R) g1 @& 3 & R). (&) wi men 7l 71
(A) TE1 2 Sfm (R) v TE 2

(A) 7 7 & AFF R) wat 2

[Question ID = 4908][Question Description = Q10_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 15095]
2. 2 [Option ID = 15096
3. 3 [Opticn ID = 19097]
4. 4 [Opticn ID = 19098]

®) In which of the following research methods, process of hypothesis testing optimally
safeguards the role of extraneocus variables?
(1) Expost Facto method (2) Experimental method
(3) Historical method (4) Descriptive survey method
= & ot mg-Gfte 3 wh St O aieeen wham ke o = oa T i gt W gide
Eoci i
()  FERR - Joe @) wETeES-fafy
(8 tfwfas-fafy (4) freoTeTs-waa-fafy

[Question ID = 4909][Question Description = Q11_GP_22N0OV_S52_SHAAN]
1. 1 [Option ID = 19099]
2. 2 [Option ID = 19100]
3. 3 [Option ID = 19101]
4, 4 [Option ID = 19102]

7) Which of the following belong to the category of true experimental design?

(A)
(B)
(€)
D)
(E)

One group pre test post test design

Two groups randomized subjects post test only design
Two groups static designs

Randomised groups pre test post test design

One group time series design

Choose the correct answer from the options given below :

(1)
(3)

{A) and (B) only (2) (B)and (C) only
(B) and (D) only (4) (D) and (E) only

A= 4 @ w9 ardfas gEifies sifteres O grseg 27

4)

(B)
(©)

(D)

ST

wehel gEiEnr Tl SfredEn
g A=siga fowa v e sfser
GG THE qETiE qhE sTfimer

[
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R T ——
A fom o foreredi 9 & wE SR W W= i

() = (A) 3R (B) @) %= (B) 3R (C)
(3 %= (B) 3t (D) @ == (D) 3R (E)

[Question ID = 4910][Question Description = Q12_GP_22N0OV_52_SHAAN]
1. 1 [Optien ID = 19103]
2. 2 [Optien ID = 19104]
3. 3 [Optien ID = 19105]
4. 4 [Option ID = 19106]

8) Match List I with List IT

List I List IT
Steps of research Precautions needed
(A) Problem formulation (I) Appropriateness of technigues used
(B) Hypothesis making (IT) Ensuring internal validity optimally
(C) Research design (III) Unambiguous labelling of variables
being related
(D) Data analysis (IV) Focused issues 1n terms evidences

Choose the correct answer from the options given below :

1  @-AD. B)-O, (O)-aV). (D)-AID
@ @&-O. (B)-dD, (C)-(a1ID), (D)-(IV)
(3)  (A)-IV), (B)-(ID), (C)-(ID), D)-(D
4  @-AID. (B)-AV), (O)-O. M)-AD

-1 % Ty ge=i-11 =1 e Hifs -
SSID! -0
;Y 3 T AT FrrEtar
Ay  aer i @ s = PR A R s
(B) ufmmewar s (AD) ST=ies S T 38an v
(C) g FfirreT (AID) rovaf-od =0 &1 JEfry A
D) zu-fwawm AV) wiEr-ugl W Hsa o

Hra 723 70 fomedt 4 @ T s W 9 fifw

(L (A)-AD. B)-(D). (C)-AV). D)-IID

2  @-@), B)-AI). (O)-dIl), (D)-IV)

(3 (A)-AV), (B)-(I1D). (C)-dL), (D)-(D

(4 (A)-(1ID. (B)-(IV). (C)-(D, (D)-AD
[Question ID = 4911][Question Description = Q13_GP_22N0OV_52_SHAAN]
. 1 [Option ID = 19107]
2 [Option ID = 19108

]
3 [Option ID = 19109]
4 [Option ID = 19110]

B 2

9)  Given below are two statements :
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Statement I: Use of ICT in research 1s a super imposition which should be discouraged.

Statement II: Research ethics and its observance has to be a mandatory requirement.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement IT are true

(2) Both Statement I and Statement IT are false

(3) Statement I is true but Statement II 1s false

(4) Statement I is false but Statement II 1s true

4 & wym fRw 7w B -

For (1) : TNy oM. H1A, = yAT uw sreariam & B wdeza feen s afge

o (II) : W= - 31 S5eht STTeH T STar sTagTedl ¢ |

SYTRE HYT 5 oI °, e 2w o fawewt § € a9t se o 9= fifee

(1)

(2)

(3)

(4)

FHY 13T I 21 o 2 |

FHYA 1 317 1139 979 2 |

FU7 197 B, wifed 99 11 o75e7 2 |

%97 I 5159c7 2, @ #ua 1L aew 21

[Question ID = 4912][Question Description = Q14_GP_22N0OV_52_SHAAN]
1. 1 [Option ID = 19111]
2. 2 [Optien ID = 19112]
3. 3 [Optien ID = 19113]
4. 4 [Option ID = 19114]

10)

Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A): Format and styles of referencing in a research thesis are formal
requirements.

Reasons (R) : Formal requirements and their observance help promote standardization
and objectivity.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true and (R) is NOT the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) 18 true

i 2 oy few e 2
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B I b i R B ¥ V-""f:}"ﬁ"'—"“"l LR B b e B B N € et s I RN By 0 S Rl B e B B A = s B e B LY R £ |
1T (R) : Ftefer STevahaial R T I § AHDIT 3T agHEa % GaEd #
Tzl et 2|

STRE FYT % T 8, 9w e faweat € @ w2 39t % 99w fifsw
L) (A) 3R (R) 3F W& & 3 (R), (A) F1 Tl =41@ 2 |

@) (A 3R (R) 3 udt & afe R). (A) i u@t saven 76 21

(8) (A T2 afF ®) ad TEl 2

@ Q) = TE 2 At R) T 2

[Question ID = 4913][Question Description = Q15_GP_22NOV_S$2_SHAAN]
1. 1 [Option ID = 19115]
2. 2 [Option ID = 19116
3. 3 [Option ID = 15117
4. 4 [Option ID = 19118]

1) When the attitude of the communication towards self is positive but towards others it is
negative, the communicator is said to be

(1) Self confident (2) Lacking in self confidence and
authenticity
(3) Self-conceited {4y Communicating without confidence and
without optimism
& HaTdl 1 SHAR = % Y GHeA® T 51 % Ui FHReTE 2l a1 38 Hed 2
(1)  sArcAtarar (2) TEHETEE UF TR 39
(3)  oAtimrh (4) TavaEds vg semEETE e

[Question ID = 4914][Question Description = Q16_GP_22N0OV_52_SHAAN]
1. 1 [Optien ID = 19119]
2. 2 [Optien ID = 19120]
3. 3 [Option ID = 19121]
4. 4 [Option ID = 19122]

12)  1f the action desired in the message is satisfactorily performed or the information is
faithfully received., it 1s saild that.

(1) Communication loop has been closed (2) Communication has just begun

(3) Communication 1s successful (4) Communication process 1s smooth

IPR TEUIHER UE Ty & O R OO g3 At au w9l gee fevawgds g 7 i @

34 7 2l
(1) war - ufoy s= 3 99 & (2) waw ot 3% & gor 3
(3 UEOR uEA B (4) A Faty 2|

[Question ID = 4915][Question Description = Q17_GP_22N0OV_52_SHAAN]
1 [Option ID = 19123]
. 2 [Option ID = 19124]
. 3 [Option ID = 19125]
4 [Option ID = 19126]

oWk B

13) (Given below are two statements :

Statement I: Society plays a key part in the shaping of communication process.

Statement II: Communication is concerned with the production, distribution and formation
of public knowledge 1n society.

In the hight of the above statements, choose the most appropriate answer from the options
given below:

(1) Both Statement I and Statement II are correct

FLP AN Tradkls Chmdrmssnmimd T omwmd Chadcinmsmd TT msesm 5w smsinnm b
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(3) Statement I is correct but Statement II 1s incorrect

(4) Statement I is incorrect but Statement II 1s correct
= g e T e 2

F (I): T, WAE WGEAT WK A H g i 1 e i g |

Fum (ID) : TEE TS § TEH-TE T % Sered v e & i ararad 2 |

STRIFT HU * @A °, Fi= fag e et & ¥ wawm sugmw s w == i
()  woF IR IISM Wi 2

(2)  F IR II3F TTom 2 |

(8) w19 2, Sfk g [I7era 2 |

@) = D7 3, AT ®ue I Ed 3

[Question ID = 4916][Question Description = Q18_GP_22NOV_S$2_SHAAN]
1. 1 [Option ID = 19127]
2. 2 [Option ID = 15128
3. 3 [Option ID = 15129
4. 4 [Option ID = 19130]

t4) ‘Many Voices, one world : Communication and Society :

Today and Tomorrow” (UNESCO), known as the MacBride commission. 1s about:

(A)  The needs of developing countries

(B) Industmal growth

(C) Disarmament and world peace
(D)  Balanece information flow

(E)  International understanding

Choose the correct answer from the options given below :

(1) A, D). (E)only (2) (A, (B), and (C) only
3) A, (C). and (D) only @ (A). (B), and (D) only

sfEafRmEt o fva o 59 @ aue ot SR e (), aftg s sl fres 27
Q) e ot i smavEE

(B) it fomm

©) FoEiwm a et

(D)  wgfe Yo samE

(B) ot Ugh sty

Aot f o Ryl § @ Wl S B W R ;

1)  Fad (A), (D) 3R (E) (2) = (A), (B) 2R (O)

(8)  Faw (A), (C) 3 (D) @) Fad (A), (B) 3R (D)
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[Question ID = 4917][Question Description = Q19_GP_22NOV_S$2_SHAAN]
1. 1 [Option ID = 19131]
2. 2 [Option ID = 15132]
3. 3 [Option ID = 19133]
4. 4 [Option ID = 19134]

15)

Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as
Reason (R) :

Assertion (A):  Those who receive the message and get themselves influenced by them in

the process, are designated as audience.

Reasons (R) : An individual or many. who listen. watch or read the messages are called

audience,

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct and (R) 1s NOT the correct explanation of (A)
(3) (A) 18 correct but (R) 1s not correct

(4) (A) 15 not correct but (R) 1s correct

T 3w fou e 2w AAfiuA (Assertion A) % ¥W ¥ faflaa @ a1 5@ 39 HRW (Reason R) +

&g |

IFRAT (A) I TR AR I B SfR 36 UERAT § w9 UWem T 9 B, S g (it e

TR

=1 (R) ; uw sHfad A gaL oFF Safad A T W A, 2Ed 3R 9ed 8, AT wean @ |

SUUE YT 5 @ H, e de e Tawedt § 9 ged Iugw IR B W hifae

(L
(2)
(3

@

(&) 3k (R) 3 Tt & &ik (R), (A) 7 @t =awen 2

@) 3R (B) 31 =t § A6 R). (A) F we s @ R
(&) wEl 2 oFe R) w72 2

(A) wet 76 & 9fRm ®) w2t )

[Question ID = 4918][Question Description = Q20_GP_22NOV_S$2_SHAAN]
. 1 [Option ID = 19135]
. 2 [Option ID = 19136]
. 3 [Option ID = 19137]
. 4 [Option ID = 19138]

1
2
3
4

16) A sum of money at compound interest doubles itself in 15 years, It will become eight tumes

of itself in :
(1) 45 years (2) 48 years
(3) 54 years (4) 60 years

wF FifTaa o7 $r ufen 15 ani § whdlg = @ T | o 2 | T8 S T @ oS T B 9wl § &
Sart ¢
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(1) 4599 ® (2) 48aWi
(3) B4 A (4) 60 o

[Question ID = 4919][Question Description = Q21_GP_22N0OV_52_SHAAN]
1. 1 [Option ID = 19139]
2. 2 [Option ID = 19140]
3. 3 [Option ID = 19141]
4. 4 [Option ID = 19142)

1) The average age of three boys 18 25 vears and their ages are 1n the proportion 3 : 5 : 7, the
age of the youngest boy 1s :

(1) O vears (2) 15 years
(3) 18 years (4) 21 years

o7 TeH A o7Ea o1 25 Wi § R SRl ST W uEEEE 3:5: 7 2 O Ae I w5 i g T 27

(L) 9 g (@) 159
(3) 18 a1+ (4) 21dA

[Question ID = 4920][Question Description = Q22_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19143]
2. 2 [Option ID = 19144]
3. 3 [Option ID = 19145]
4. 4 [Option ID = 19146]

18) With an average speed of 50 km/hr, a train reaches its destination in time. If it goes with an
average speed of 40 km/hr, it is late by 24 minutes. The total distance travelled is :

(1) 30 km (2) 40km

(3) 60 km (4) 80km

wF e 50 . /e i stea i @ oo e e W O wWE © uEedl @ | STR T7 40 B fem
<6 71 O et 2 o 77 24 fime oz g sl 2 | S e e Fretiien # awt et 27

(1) 30Tt (2) 40 s
(3) 60 %, (4) 80 =F.Hi.

[Question ID = 4921][Question Description = Q23_GP_22N0OV_52_SHAAN]
1. 1 [Option ID = 19147]
2. 2 [Option ID = 19148]
3. 3 [Option ID = 19149]
4. 4 [Option ID = 19150]

19) ' 1f the word EARTH be witten as QPMZS in coded form, how can HEART be written following

the same coding.
(1) SQPZM 2) SQMPZ
(3) SPQZM (4 SQPMZ

3R EARTH w&g ! Fe-mr § QPMZS fren on 7t af 3t ge—ww § HEART wt 34 o ?

(1) SQPZM (2) SQMPZ
(3) SPQZM 4 SQPMZ

[Question ID = 4922][Question Description = Q24_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19151]
2. 2 [Option ID = 19152]
3. 3 [Option ID = 19153]
4. 4 [Option ID = 19154]
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20 Complete the number seres :
0. 6. 24, 60, 120, ......

(1) 180 2y 300
(3) 210 (4) 240

TEA-%A N IT |

0, 6. 24, 60, 120, ......

(1) 180 (2) 300
3 210 (4) 240

[Question ID = 4923][Question Description = Q25_GP_22NOV_S$2_SHAAN]
1. 1 [Option ID = 19155]
2. 2 [Option ID = 19156
3. 3 [Optien ID = 19157]
4. 4 [Option ID = 19158]

21) Sagarika 1s never seen reading any Mathematics book during the day time. Yet she scored
08% marks in Mathematics. Therefore she must be studying during the night. “Which of

following means of knowledge is used in this argument?
(1)  Upamina (analogy) (2) Pratyaksa (Perception)

(3) Anumana (inference) (4) Arthapatti (Implication)

“fe1 % wmA o wETiem H TG $ gRae ugd g0 o off 7= 2w e, 9l <@ 98% Si% OTH gW | ST
Iz T ¥ o wedt gnlt 1 5@ gfE | =i o egaw P 27

(1) IUHH (2) U™

(3  oFEH (4) FruiaRy

[Question ID = 4924][Question Description = Q26_GP_22NOV_S$2_SHAAN]
1. 1 [Option ID = 19159]
2. 2 [Option ID = 15160
3. 3 [Option ID = 15161]
4. 4 [Option ID = 19162]

22) Which of the following Indian thought systems holds that universal relation in case of
inference (anumana) cannot be determined hecause there 1s always room for doubt about the

unobserved cases?
(1) Buddhists (2) Naiyayikas
(3) Mimamsa (4) Lokavala

ffafas 4 @ = & ada ooiv vl 75wt 2 6 sgam @ wefEa addm aeey falfe ad fe
I T TR ST ATl B Hi-aroa =i JoNsH g9 ol wEat 7 7

(1) g @) =P
(3  wHmm @) <

[Question ID = 4925][Question Description = Q27_GP_22N0V_S2_ SHAAN]
1. 1 [Option ID = 19163]
2. 2 [Option ID = 19164]
3. 3 [Option ID = 19165]
4, 4 [Option ID = 19166]

23) The statement ‘a sense organ that perceives a property also perceives the “propertyness™ as

well as the absence of that property’ can be attributed to which of the following schools of
classical Indian Philosophy?

(1) Lokayala / Carvaka (2) Nyaya
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{(3) Buddhism (4) Uttara mimarhsa

w9 - 't gfgm e W g e 2 98t s saeht qetafdar aun swh s W ot vead w317
=0 WTEE AT 399 % 69 SR ¥ el S e 2|

() oEa/aEE @) =™

3 3 (@) FeR HE

[Question ID = 4926][Question Description = Q28_GP_22N0V_S2_SHAAN]
1. 1 [Option ID = 19167]
2. 2 [Option ID = 19168]
3. 3 [Option ID = 19169]
4. 4 [Option ID = 19170]

24} Which fallacy 1s committed in the following statement?

“Nobody has even proved that immoral behaviour by elected officials erodes public morality.
Therefore we must conclude that such behavior does not erode public morality”.

(1) Appeal to Force (2) Appeal to Pity
(3) Appeal to Ignorance {4) Appeal to the People
srdifaRen =Y | w4 o7 e A e 27 TR A e g e TR @ TR g g weifieia o
Ao SHeER SF- IR 1 &R Wt @ Foawd B9 39 FITRY W TEd © % 3 WE B 9ER SH-
Afceran =1 aror 6 w2 )
(1) <o % =ed (2) &1 9 % =eAd
(3)  T9F & Twd (4) FEd % Fod
[Question ID = 4927][Question Description = Q29_GP_22N0OV_S52_SHAAN]
1. 1 [Option ID = 19171]
2. 2 [Option ID = 19172]

3. 3 [Option ID = 19173]
4, 4 [Option ID = 19174]

23) @Given below are two statements :

Statement A: “All physicians whose licenses have been revoked are physicians ineligible to
practise”.

Statement B: “All phyvsicans eligible to practize are physicians whose licenses are intail”.

Which of the following is true with regard to above two statements?

(1) Statement B 1s contrapositive of the statement A and these siatements are not
logically equivalent.

(2y Statement B 1s contrapositive of the statement A and these two statements are
logically equivalent.,

(3 Statement B is converse of the statement A and these two statements are not
logically equivalent.

(4) Statement B is obverse of the statement A and these two statements are not logically
equivalent.

Fom 1 3wt fafrcms faeh srmttaar fieea 2 wh 2 3 frfdrem = =g amea 20
®u ‘& o et Fafeems o fafrem =0t % foe aimg £ svh armfoast sigor 2)

37 21 oA % T § FAiiea § o W R T 2|

(1) 9 9, ®9F o1 F1 Sfquiafdd €9 2 9o S HoF difches 3fe o amgen 98 1
(2) Y W, B A P TaUNATGd T 2 TUT GAT BT 1D 318§ TAGEA 3 |

(8) YA W, N A N AIGAA T9 2 AUT 21 HUA AR P Y THGA T 2 |
(4) w9, A o F vhdiaiia T4 8 9901 3 9= @ik g o Tuges e |
[Question ID = 4928][Question Description = Q30_GP_22N0OV_52_SHAAN]

1. 1 [Option ID = 19175]
| 2. 2 [Option ID = 19176]

prepp
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| 3. 3 [Option ID = 19177]
4. 4 [Option ID = 19178]

26) With respect to Computer Virus, which one of the following statements is True?

(1) It is a kind of physical impurity which when present in the CPU causes it to
malfunction.

(2) It 1s a computer program that infects a computer and thereby sends unsolicited bulk
email.

(3) It 1s a computer program which copies itself to infect a computer without the
permission / knowledge of the user.

(4) It 1s an accumulation of dust on the hard disk causing it to malfunction,
T IE F TEFY T g § § i W HeE 5o 37
(1) =% TF THR =i i o1mig 2 S 5w d@i.dt g, 8 =t 2 a TeeEl d Bl 2

(2) 7% TF hUgEX DA B S BRI SRl UM HHal £ SR 56 TR SIS aoh shel Sl 2 |

(3) uE T FE WHH 2 S e ufdew seian 2 e wg weerer 91 suwt @ wE A
TG % fo T 38 fad =t B |

(4) 7= Fae got i TEEE T S T W U i 3 Fes Feee wm Ao o w2

[Question ID = 4929][Question Description = Q31_GP_22NOV_52_SHAAN]
1. 1 [Optien ID = 19179]
2. 2 [Optien ID = 19180]
3. 3 [Optien ID = 19181]
4. 4 [Option ID = 19182]

27) Identify the correct order in which the following computer memories are ranked from largest

to smallest 1n terms of storage capacity
(A)  Cache

(B) RAM

(C) Hard Disk

(D)  Register

Choose the correct answer from the options given below :
(1 (©), (B). D), A) 2y D), &), (B). (C)

3  ®.D). Q) A ) (C). (B), (A). (D)
wfa- s #i rar £ ¢fE @ vee =S U oe B2 FEgEE YA F WE 0 A TEaH o

(A)  F

B W

C€) I
D) T

H fgu T famweat o @ gt I = il
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1 (). B). D). 4) 2) D). A B (C)

3 B D). ). &) (4) (C).B). (A). D)

[Question ID = 4930][Question Description = Q32_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19183]
2. 2 [Option ID = 19184]
3. 3 [Option ID = 19185]
4. 4 [Option ID = 19186]

28)  Given below are two statements :

Statement I: The largest decimal number that can be represented using a 7-bit binary

number 1s 128,

Statement IT: Minimum number of bits required to store largest 2-digit decimal number

18 7.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II 1s false

(4) Statement I 1s false but Statement IT is true
e 7 e fom e #
Fo (D) 7-To %1 o= e gu wed w9l qumera e 128 3 |
w9 (II) . =8 93 21-T5Fe qremafas dem F1 9w w6 #* fw =gaan 7 5z A snawasa 2
SYUE FYF T A A, N9 v 7u fawedl # 9wt su W 99w AR
(O Fo IR IL3A & § |

(2) w1 3R 113 19T 2 |

(8 F I, dF wu o B

@) FH a2, AR FE a2 |
[Question ID = 4931][Question Description = Q33_GP_22N0OV_52_SHAAN]
1. 1 [Option ID = 19187]
2. 2 [Option ID = 19188)

3. 3 [Option ID = 19189]
4. 4 [Option ID = 19190]

23) Which of the following group of statements with respect to World Wide Web (WWW) is

correct?

(A A web server 1s a soffware used to access and view content on the WWW.,
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A web browser 1s a computer system that makes files available on the WWW,

(B)
(C) Tim Berners — Lee created the WWW.
(D)  Mosalc was the first widely used web browser.

Choose the correct statements firom above :

(1)

(3

(A) and (B) only

(B) and (C) only

2)

(4)

WWW (a5 9158 961) = Ty § S~ § 599 Tl 8¢

(A)

(B)

(&)

D)

= fam

(1) ==& (A) 3 (B)

(3)

(C) and (D) only

(A) and (D) only

49 "L U WiFePR B W WWW W Uagd 31t shiedae 2 = fo1e o Bt 2 |

o FIIR U Hret fren 2 9 WWW W Sueiey FIset T ¢ |

o wa-t F WWW s/ |

7T fawedi ® | U8 SR % 99 S

Faa (B) 3R (O)

Hiolh YEeT WOH SA1E] WgEd FPRAT ST STl e SiSer o |

2) *Fa (C) 3k (D)

(4) AT (A) I D)

[Question ID = 4932][Question Description = Q34_GP_22N0V_S52_ SHAAN]

e R B —

. 1 [Option ID = 19191]
2 [Option ID = 19192]
3 [Option ID = 19193]
. 4 [Option ID = 19194]

30) Match List I with List IT

Last 1
(Digital Initiatives in Higher Education)
(A) NAD
(B) NDL

(C) Spoken Tutorial

(D) FOSSEE

@D

an

(ITIT) Issuance,

Last I1

(Purpose)
Reduce dependency on proprietary
software in educational institutions.

Learn various free and open source
software all by oneself.

storage, access and
verification of Academic Awards
namely degrees, mark-sheets ete.

(IV) Frame work of wvirtual repository of

learning resources with a single —
window search facility.

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A)-a1ID. (B)-AV), (C)-(ID. (D)-@)
(A)-(IV). (B)-(1I), (C)-(T), (D)-AD)
(A)-(IV), (B)-(I1I), (O)-(ID), (D)-D
(&)-AD. (B)-(D), (C)-IID. (D)-IV)

Tefi-1 % =y g1 =1 feem Hifs

prepp
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g1 g 11
Ieaivie | fafea vz A&
A) T, @ Treor-em ¥ el divedmm W san
T2
B) I (D) 9 e 2 ffim i ot st o
2
(C) waRE Zitas (A1) Tl =, s =6, e ok Ay e
Su-fait, ared-=fe senfs =+ s
(D) ©F.30.E.uEEE (AV) o e @ i g & oy @ fin fads
* TaIa farraed # e
f5 fiw e reml § ©@ w91 SO W T it

(1)  A-AID. B)-AV). (C)-(ID), (D)D)
@  (A-aAV), B-dID. (O)«I). (D)-AD
(3 A)-aV), B)-AID). (C)-1D), D)-M
@  (A-dD, B)-(D), (C)-d1D), (D)-(IV)

[Question ID = 4933][Question Description = Q35_GP_22NOV_S2_SHAAN]
1, 1 [Option ID = 19195]
2. 2 [Option ID = 19196]
3. 3 [Option ID = 19197]
4. 4 [Option ID = 19198

31) Ozone laver to become ozone hole. the concentration of ozone should be

(1) < 220 Dobson Unit (2) =< 300 Dobson Unit
(3) <320 Dobson Unit (4) <400 Dobson Unit
2T WA % 3T fivg ® 9Raiad 2 % o7 ST 1 §eFE BT TR |
(1) <9220 e T (2) < 300 Siew T
(8) < 820 et oS @) <400 gisga T

[Question ID = 4934][Question Description = Q36_GP_22N0OV_52_SHAAN]
1. 1 [Option ID = 19199]
2. 2 [Option ID = 19200]
3, 3 [Option ID = 19201]
4, 4 [Option ID = 19202]

32) The Virus responsible for disease COVID-19 is

(1) SARS-Cov-2 (2) TB- Cov-2
(3) SARS — Cov-1 (4) HaN-
Hifag-19 % fore e fam 2
(1)  =E-FE. -2 2y Fer-wE. - 2
(8) AE-wE. -1 (4) WA

[Question ID = 4935][Question Description = Q37_GP_22N0V_S2_SHAAN]
. 1 [Option ID = 19203]
2 [Option ID = 19204]
3 [Option ID = 19205]
4 [Option 1D = 19206]

bl B

33) Match List I with List II

ListI List IT
Alr Quality Index Colour Code
(A) 0-50 (I) Yellow
(B) 101-200 (I) Red
(C) 201-300 (III) Green
(D) 301 -400 (IV) Orange

Choose the correct answer from the options given below :

(1) (A)-(ID. B)-D), (C)-AI), (D)-(IV)
(2) (A)-(II). (B)-(D, (G)-AV), (D)-(ID

prepp
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3  @-AD. (B)-(D. (C)-1ID). (D)-AV)
@  A-AD. B)-D. (C)-AV). (D)-dID

Toff-1 % iy g=-11 =1 fiorm ifs -
g=fi-I gft-11
ElRRE IR CEed e
Ay 0-50 @ den
(B) 101-200 an ==
(C) 201-300 III) &0
(D) 301-400 av) =

= &3 o fmedt 94§ T ST W 99 i

1y  (A-AID. (B)-A). (C}-1D, O)-IV)
@2y  (A-AID. (B)-A). (C-1V), (D)-AD
3y A-AD. (B)-(D), (C)-d1I), M)-IV)
4y (A)-AD. B)-D), (C)-AV). (D)-d1D)

[Question ID = 4936][Question Description = Q38_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19207]
2. 2 [Option ID = 19208]
3. 3 [Option ID = 19209]
4. 4 [Option ID = 19210]

34) The saltiness of the ocean water can be attributed to the minerals and saits deposited by the

various rivers that flow into it. However, rivers are not saline because :

(1)  Salts get precipitated at the bottom
(2)  Salts are absorbed by the plants into it
(3)  River water in replenished by the rain

(4) Muds of the river neutralizes the salt

AYE 9 % YR F e sed s e At fatie qieat g Fate g it s o = swerE e

W GHAT B | AT, FEAT B el WY A8l 2rar I

(1)  <aw deedl 8 o1adiia 2 9 2 (2) TTEH FEEI H TN H A B
(3) &I 5 Al W A 7l Wl 2 (4) T =BT TG FE B O] AT B

[Question ID = 4937][Question Description = Q39_GP_22NOV_52_SHAAN]
. 1 [Option ID = 19211]
2 [Option ID = 19212]
3 [Option ID = 19213]
. 4 [Optien ID = 19214]

o 2

35) India’s maximum energy comes from :

oy Hydroelectric Power Plant (2) Nuclear Power Plant
(3) Thermal Power Plant {(4) Solar Power Plant

U | T S a2

(1)  uAfEE 9o (2) oA fama o=
(3)  amfaga (4) @R foagm o=

[Question ID = 4938][Question Description = Q40_GP_22N0OV_52_SHAAN]
1. 1 [Option ID = 19215]
2. 2 [Option ID = 192186]
3, 3 [Option ID = 19217]
4, 4 [Option ID = 19218]

36) Under the rubric oriental learning programmes 1n India, The role of learner was considered

to be relatively more :

prepp
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(1) Active (2) Passive
(3) Neutral (4) Silent

R H, WA S AT HEEeR sTara AAftrmeRal < i wmiaes T ¥ afies

(L)  wisea wHl St o () fafse o s off
(3 72Ty A S o (4) w=F=1 7 Sy oft

[Question ID = 4939][Question Description = Q41_GP_22N0OV_S52_SHAAN]
1. 1 [Option ID = 19219]
2. 2 [Option ID = 19220]
3. 3 [Option ID = 19221]
4, 4 [Option ID = 19222]

37) Which of the following features are indicative of the negative social rather than physical
aspects of environment?

(A)  Habitats in slums
(B)  Conflict and clashes in groups
(C)  Frustration and anxiety manifest in groups

(D)  Aggression and threats manifest in collective behaviour

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only (2) (B, and (C) only
(3) (B) and (D) only (4) (C) and (D). only

FoifRa § © FE-2 TOEea™ 9ol 3 Mitos 96T § 14 ST TRy TIHIeTE 94 § THaE B 7

(A)  HAfer FfEE 5 TE-TE

(B) @gEl b gud i wgy

(C)  TwEl A Tl 3N wrE yebe 2l 2

(D) ©YE =HFER § STHWEHA] 3K Hal T2 7 2

= 7o o faweu 4 8 9F ST W 999 S

1) = (Q) 3R (B) 2) Fa (B) 3R (C)

(3) = (B) S (D) (4) Fa= (C) 3R (D)
[Question ID = 4940][Question Description = Q42_GP_22N0OV_52_SHAAN]
1. 1 [Option ID = 19223]
2. 2 [Option ID = 19224]

3. 3 [Option ID = 19225]
4. 4 [Option ID = 19226]

38) For continous professional development and self improvement every teacher 1s supposed to

atleast devote how many hours every vear?

(1) 20 hrs (2) 30 hrs

(3) 40 hrs (4) 950 hrs
e Jomm e STR sTeTed = fo s frae st aia o = free 9 sdia e e ?
1 20w 2 309

(3)  40=e 4 50

[Question ID = 4941][Question Description = Q43_GP_22NOV_S$2_SHAAN]
| 1. 1 [Option ID = 19227]
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| 2. 2 [Option ID = 19228]
3. 3 [Option ID = 19229
4. 4 [Option ID = 19230]

39) The central motivational goal as evident in personal success through demonstrating
competence according to social standards takes the form of a basic value called,

(1) Self — direction value (2) Hedonistic vlaue
(3) Achievement value (4) Power value

qTfork WAEST % ST Sudl 1 YSHA L AATFaH Theidl A Wohe A1 IE @EA W qUYd Ied
3@%%

(1)  emenfrEl gea (2) gEaE 5w
(3) U=y ged (4) wifad go

[Question ID = 4942][Question Description = Q44_GP_22N0OV_52_SHAAN]
1

. 1 [Option ID = 19231]

2. 2 [Option ID = 19232]
3, 3 [Option ID = 19233]
4. 4 [Option ID = 19234]

40) Match List I with List IT

List I List II
Stages of value development Descriptive features

(A) Stage I— Value collection (I) Provides predictability of human
behaviour

(B) Stage Il — Value assessment (II) When there are gaps hetween
practised and preached values

(C) Stage III — Value clarification (III) Helps the individual learn to choose
and imbibe the values one cherishes

(D) Stage IV — Value consolidation {IV) These are acquired from the members

of the community

Choose the correct answer from the options given below :

1y  A)-AV), (B)-(1D), (O)-1L), D)-I)
@2 @A)-D. (B)-dD, (C)-1D), (D)-IV)
(3  A)-AD, B)-D), (C)-aAV), (DO)-A1D
@ Q- B)-IV), (C)-(D, (D)-dD

TAi-1 % @ g=At-I1 =1 fam il -

g I geft-11
A) =W - I - 959 5uem @) TG SFEER H1 ITAF U HE 2 |
(B) = - II - gea AT dD) @ =g it suefi qeat # sique o |
(C) = - III - 5 sofamo (A11) =afEs =i wodler geal & =@aq S S

T HErEar w6 2 |

D) =W - IV - Jo GHe AV) 3= TUgH % eeal ¥ are fohar v 2|
=t fa 7o forpeut & & @l s w1 wE Sy

D A-IV), B)-dID), (C)-1D, D)-I)
2)  (A)-[0). B)-AD, (C)-1ID), (D)-(IV)
3)  (A-AD. B)-O. (©O)-AV), (D)-IID
4)  A-dID. B)-AV), (C)-(D. (D)-(ID
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1) Read the following passage carefully and answer the questions that follow

The separation of work from knowledge was operationalised by separation of training from
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education. The former was intended to transfer the skills of labour and the secrets of
craftsmanship to the vounger generation of the toiling poor so as to enable them to produce
value from the sweat of their labour. The latter was intended to pass on the abstracted
generalisations of social practice as gems of knowledge to the younger generations of the
propertied class so as to enable them to wield power through a monopoly of such knowledge
and appropriate surpluses generated by the labour of the former. The essentially integrated
task of transferring the accumulated social experience of mankind to the younger generation
was thus fractured. The continuum of the primitive stage was transformed into the
dichotomy of class socities. The world of the master crafteman and his disciples was a world
apart from the protected cloisters where in the wise debated on the number of angles that
could comfortably sit on the point of the needle. This tradition of separating work from
knowledge and work from power has been the basis for the exclusion of the toilets from the
domain of knowledge by denying education to them, and from the domain of power by closing
its door to the uneducated. Viewed thus, education may be considered to be the most potent
instrument of inequalisation in history. This distortion way partially corrected in the
developed countries of the west under the nmmpact of the Industral Revolution. With
qualitative transformation of technology, 1t was no longer possible for the skilled craffsman
to participate in production without transcending the boundaries of training and moving into
the work of education. The blacksmith was to be rooted in the science of metallurgy and
tanner in chemical technology. The hitherto unsurmountable wall between training and
education had to be breached in the new situation. It became possible to do so in the
traditionally virgin ethos of the lands across the Atlantic wherever the tanner and the
historian, the blacksmith and the physicist. the tiller and the poet were put together in the
wilderness of the wildwest to fashion their common destiny.

it T =i afge silt Fi= G e gew = 3w e

giiEmn i I ¥ g HFE SR TH F R F HaER %9 G T | YEad S 96w
3R Toemt % e ® P F T 9 B saia BN 0 A 9 S0 99 B geda™ S 9 |
ST 1 ST WIS Mo % PR MR B ST A i g difeal o WA o @i O e
T THNUHR F WEAR U 52 WUk (A 51 T 3R J9adi o8 ¥ ghm st = AEeE e s w |
TH YFR, GG AG % WP GG S99 1 J91 9l R graiaics B P Thigd F1 @iEd 2 T |
HreAlal 4 MG 1 1 arfia gure A fpush e 8w )| gea et ok se aga gfe adéet &
feeger o off fmd wa < 99 o O @ B 790 SN 3 Wel 3eU ) B B 9 o IR wE # wlE
4 g e H G F gE-E U ulml % afzew e @ 2 e T o ten 4 dfua B
T 3R sl % fTT o g W R 9w W atua @1 T 39 g staer |, fhen w0 &
ST TAUH W PO T SN T 3 | Ueew $ Gwed oW ° S wid § 98 foE
T T H S i T | AR F O SR % w0 9 et % foe wtne = H{ |
T e T o ffém gv firm soea & weafie = dwa o w T | g # ggiees 9 sk SneRl
H WA e 8 SIS STEygS 2 T uiEem ok T & e om o =St dEw w1 aien sitad
El T | 3Zelie® UN % e W I% §Y4 B T FiE g8 Undl ° UH 90 9 FH % BEO 9Har 3R
sidg@ar, der 3R Giasiaget, goff ik = v & 990 @ o oot 4 s A atas ga) w5 |

Inequalisation due to education could be addressed by :

(A}  Promoting the distinction between theory and practise

(B)  Challenging the watertight distinction between training and education

(C)  Qualitative transformation of technology

(D) Ushering in an age of specialization based on dichotomy between training and

education

Choose the correct answer from the options given below :

(1)

(3)

(A) and (B) only (2)  (A). and (D) only

(B) and (C) only (4) (C) and (D) only

1o 7 STOTHIA W W 2
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(A) oz o sgaoR % 382 =i g &9 |
B)  uiemr s fren % i F soreq fadg =1 g o)
(C)  TENER = ToEGTRS BRI |

D)  wfeor sit Rz % Ry % emar @ Rsiwsan i @R 9 )

9 fau v et § ° A9 ST W 99 Hif
(1) = (A) 3R (B) (2) Fad (A) IR (D)

(3) I (B) R (C) (4) Fad (C) sfit (D)

[Question ID = 4944][Question Description = Q46_GP_22N0V_S52_ SHAAN]
1. 1 [Option ID = 19239]
2. 2 [Option ID = 19240]
3. 3 [Option ID = 19241]
4, 4 [Option ID = 19242]

Z) Read the following passage carefully and answer the questions that follow

The separation of work from knowledge was operationalised by separation of training from
education. The former was intended to transfer the skills of labour and the secrets of
craftsmanship to the vounger generation of the toiling poor so as to enable them to produce
value from the sweat of their labour. The latter was intended to pass on the abstracted
generalisations of social practice as gems of knowledge to the younger generations of the
propettied class so0 as to enable them to wield power through a monopoly of such knowledge
and appropriate surpluses generated by the labour of the former. The essentially integrated
task of transferring the accumulated social experience of mankind to the younger generation
was thus fractured. The continuum of the primitive stage was transformed into the
dichotomy of class socities. The world of the master craftsman and his disciples was a world
apart from the protected cloisters where in the wise debated on the number of angles that
could comfortably sit on the point of the needle. This tradition of separating work from
knowledge and work from power has been the basis for the exclusion of the toilets from the
domain of knowledge by denving education to them, and from the domain of power by closing
its door to the uneducated. Viewed thus. education may be considered to be the most potent
instrument of inequalisation in history. This distortion way partially corrected in the
developed countries of the west under the mmpact of the Industrial Revolution. With
qualitative transformation of technology, it was no longer possible for the skilled craftsman
to participate in production without transcending the boundaries of training and moving into
the work of education. The blacksmith was to be rooted in the science of metallurgy and
tanner in chemical technology. The hitherto unsurmountable wall between training and
education had to be breached in the new situation. It became possible to do so in the
traditionally virgin ethos of the lands across the Atlantic wherever the tanner and the
historian, the blacksmith and the physicist, the tiller and the poet were put together in the
wilderness of the wildwest to fashion their common destiny.

[t e Hi 9t 3R Fre B e g = I 4T

Tinia =i T W 9 W BE AR FH F PR B STOER-%9 GA1 T | Yeed 1 A 48 B
s feewailt & wE ® FdA 1 gen G B sraia B o1 @itk 9 a1 49 Wl gewa™ &\ T |
ST T AT IS 94T % GoreRd WA= = S et ot e difeel aw ug=mn o aife oF e
O UHIEHE % WIS U 3% Guwh A1 o1 @ A geadi 2 o O gha st w fafeem e e s
T YFR, OFE TG F Wia qmiE Sg9a F A 1 Y eiaka wE # Thiga F gied 2 T |
A | A1 T 1wl gur 5 fgurslt wwer 8 | g Bieelt o) 3% sl e weidet o
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STEAHERY AN T B A TOEEA | URAH % Gwea G § S wi = a8
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Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as

Reason (R) :
Assertion (A):  Education may be considered to be an instrument of inegualisation.
Reasons (R) : The separation of work from knowledge was operationalized by separation

of training from education.

In the hight of the above statements. choose the most appropriate answer from the options

given below :

(1 Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct and (R) 1s NOT the correct explanation of (A)
(3) (A) 15 correct but (R) 1s not correct

(4) {A) 15 not correct but (R) 1s correct

i g1 e Ry 7w ¥ w AITFUA (Assertion A) % ¥4 ¥ fHftm 2 9 790 Sk FRW (Reason R) &

E‘Jﬁ
sifeEreA (A) e = TR T WA 9 S S 2
0 (R) : Tt @ wfnaor 1 gus w0 %/ A TH § 99 A T

SWRIT HYT % A °, T G 7 Feped O asd 3w I 99 il

Q) (IR @) I T 2 IR ®). () F wd s 2

@ (A) IR R) ZA W 3 A (R). (A) B = e =/
3 (A wE Al R) T A R

@ W wE TR AR ®) R

[Question ID = 4945][Question Description = Q47_GP_22N0OV_52_SHAAN]
1. 1 [Option ID = 19243]
2. 2 [Option ID = 19244]
3. 3 [Optien ID = 19245]
4. 4 [Option ID = 19246]

3) Read the following passage carefully and answer the questions that follow

The separation of work from knowledge was operationalised by separation of training from
education. The former was intended to transfer the skills of labour and the secrets of
craftsmanship to the vounger generation of the toiling poor so as to enable them to produce
value from the sweat of their labour. The latter was intended to pass on the abstracted
generalisations of social practice as gems of knowledge to the younger generations of the
propettied class so as to enable them to wield power through a monopoly of such knowledge
and appropriate surpluses generated by the labour of the former. The essentially integrated
task of transferring the accumulated social experience of mankind to the younger generation
was thus fractured. The continuum of the primitive stage was transformed into the
dichotomy of class socities. The world of the master craftsman and his disciples was a world
apart from the protected cloisters where in the wise debated on the number of angles that
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knowledge and work from power has been the basis for the exclusion of the toilets from the
domain of knowledge by denying education to them, and from the domain of power by closing
its door to the uneducated. Viewed thus. education may be considered to be the most potent
instrument of inequalisation in history. This distortion way partially corrected in the
developed countries of the west under the mmpact of the Industrial Revolution. With
qualitative transformation of technology, it was no longer possible for the skilled craftsman
to participate in production without transcending the boundaries of training and moving into
the work of education. The blacksmith was to be rooted in the science of metallurgy and
tanner In chemical techneology. The hitherto unsurmountable wall between training and
education had to be breached in the new situation. It became posszible to do so in the
traditionally virgin ethos of the lands across the Atlantic wherever the tanner and the
historian, the blacksmith and the physicist, the tiller and the poet were put together in the
wilderness of the wildwest to fashion their common destiny.

et e Hi gt o Fre B e g = o e

iR =i 2T W 9 A BE AR TH F P R STOER-%9 G T | Yeed] 1 A 48 e
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ST Bl S WEISTR W4T % GG ATHTIET bl S et B e Gt e ugsEn oar i o 3
TR UHIPER F WA U 3% Guwh (R o G S geedi % o9 § giom sl w0 fatEsE e s ek
W YR, 9FF S af amfer g F g il B siain w6 Thiga B dfed 2
FIATGE § MG 7 1 i gursn A Tgash e & | ge et oK 3o e g wiaar 9
e Tim ot fed wem <fm ¥ o0 § o 9 O A ST TE 3200 ) BT R T A IR wE H wi
W gUs FE B WU § IA-89 O i % st onar W 2 e e % fen @ st e
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i =0 4 3% T | ARt % ToEETe SR B B iea # foe g S S oa
T e i of ffém zo fem seea & et w2 dva = w T g # aghas § ok SR
F1 wWEE =T 8 e oTayEs 5 T e ok e & e om0 @S dar = as sfae
=l T | HEAle® YR <k <Y H 9% WU B T I 98 T5d o UH 9Ta0 9 g4 % B0 =Han $R
sfagm@=i, Far 3R SiastagEt, gt K Bid v & 990 W T 10 q1iF d S0 ATE 99 AR a9 |

Given below are two statements :

Statement I: Training is intended to transfer the skills of labour and secrets of crafts

manship to people who lack it.

Statement IT: Education 1§ intended to pass on the abstracted generalizations of social

practise to those who lack 1t.

In the light of the above statements. choose the most appropriate answer from the options

given below:

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
{(3) Statement I 1s correct but Statement II 15 1ncorrect
{4) Statement I 1s incorrect but Statement II 1s correct
A g oy g e 2

waE (I);  9fme =0 o9 afies o wime o el & @t & 39 |0 @ geaand w6 8 e 1
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[Question ID = 4946][Question Description = Q48_GP_22NOV_S$2_SHAAN]
1. 1 [Option ID = 19247]
2. 2 [Option ID = 15248
3. 3 [Option ID = 19249]
4. 4 [Option ID = 19250]

4)

Read the following passage carefully and answer the questions that follow

The separation of work from knowledge was operationalised by separation of training from
education. The former was intended to transfer the skills of labour and the secrets of
craftsmanship to the vounger generation of the toiling poor so as to enable them to produce
value from the sweat of their labour. The latter was intended to pass on the abstracted
generalisations of social practice as gems of knowledge to the younger generations of the
propettied class so as to enable them to wield power through a monopoly of such knowledge
and appropriate surpluses generated by the labour of the former. The essentially integrated
task of transferring the accumulated social experience of mankind to the younger generation
was thus fractured. The continuum of the primitive stage was transformed into the
dichotomy of class socities. The world of the master craftsman and his disciples was a world
apart from the protected cloisters where in the wise debated on the number of angles that
could comfortably sit on the point of the needle. This tradition of separating work from
knowledge and work from power has been the basis for the exclusion of the toilets from the
domain of knowledge by denving education to them, and from the domain of power by closing
its door to the uneducated. Viewed thus. education may be considered to be the most potent
instrument of inequalisation in history. This distortion way partially corrected in the
developed countries of the west under the mmpact of the Industrial Revolution. With
qualitative transformation of technology, it was no longer possible for the skilled craftsman
to participate in production without transcending the boundaries of training and moving into
the work of education. The blacksmith was to be rooted in the science of metallurgy and
tanner in chemical technology. The hitherto unsurmountable wall between training and
education had to be breached in the new situation. It became possible to do so in the
traditionally virgin ethos of the lands across the Atlantic wherever the tanner and the
historian, the blacksmith and the physicist, the tiller and the poet were put together in the
wilderness of the wildwest to fashion their common destiny.
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The author of the passage argues for :

(A)
(B)

Fr 1N

Classless society

Technocratic society
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(D)  Presentation of traditional erafts

Choose the correct answer from the options given below :

(1)  (A) and (D) only @) (A) and (C) only
(3)  (B) and (D) only (4) (C) and (D) only
TR & g% fRues auYs Fa a7
a) =il g

(B)  aAehi-aT T
(C) Trgia iR =9aeR ¥ uer araday
(D) s fedt i wgla

Tl 3L R THF HIT
(D Faa (A) I D) (2)  F=E (A) 2R (O)
(3)  ae (B) i (D) @ e (C) i (D)

[Question ID = 4947][Question Description = Q49_GP_22N0V_S52_ SHAAN]
1. 1 [Option ID = 19251]
2. 2 [Option ID = 19252]
3. 3 [Option ID = 19253]
4. 4 [Option ID = 19254]

) Read the following passage carefully and answer the questions that follow

The separation of work from knowledge was operationalised by separation of training from
education. The former was intended to transfer the skills of labour and the secrets of
craftsmanship to the vounger generation of the toiling poor so as to enable them to produce
value from the sweat of their labour. The latter was intended to pass on the abstracted
generalisations of social practice as gems of knowledge to the younger generations of the
propettied class so as to enable them to wield power through a monopoly of such knowledge
and appropriate surpluses generated by the labour of the former. The essentially integrated
task of transferring the accumulated social experience of mankind to the younger generation
was thus fractured. The continuum of the primitive stage was transformed into the
dichotomy of class socities. The world of the master craftsman and his disciples was a world
apart from the protected cloisters where in the wise debated on the number of angles that
could comfortably sit on the point of the needle. This tradition of separating work from
knowledge and work from power has been the basis for the exclusion of the toilets from the
domain of knowledge by denving education to them, and from the domain of power by closing
its door to the uneducated. Viewed thus. education may be considered to be the most potent
instrument of inequalisation in history. This distortion way partially corrected in the
developed countries of the west under the mmpact of the Industrial Revolution. With
qualitative transformation of technology, it was no longer possible for the skilled craftsman
to participate in production without transcending the boundaries of training and moving into
the work of education. The blacksmith was to be rooted in the science of metallurgy and
tanner in chemical technology. The hitherto unsurmountable wall between training and
education had to be breached in the new situation. It became possible to do so in the
traditionally virgin ethos of the lands across the Atlantic wherever the tanner and the
historian, the blacksmith and the physicist, the tiller and the poet were put together in the
wilderness of the wildwest to fashion their common destiny.
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Assign a suitable title to the paragraph

(1) Theory without practice infertile. practical benefit of theory 1s in vain
(2) Theory and practical, complement each others

(3) Dichotomy of theory and practice

(4) Theory lends support to practice

T 1 39FFT TR g

(1) =r9=R = forn faga e 2, fog = o =saer =9 2)
2 Tugm s =rEEr TH-ge % T ¢ |

(3)  fig| o wEEn = s

@)  Taga o =aen = aa e 21

[Question ID = 4948][Question Description = Q50_GP_22N0V_S2_ SHAAN]
1. 1 [Option ID = 19255]
2. 2 [Option ID = 19256]
3. 3 [Option ID = 19257]
4, 4 [Option ID = 19258]
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